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1 ] .&uj(?edin &_smﬂé]uﬁ\s&r @emp Sty QT SiemetHe q@a_sﬁ;é\aﬂfras@fo Byucouren
v zre Qedvseag gally, Qufln gl mGeaussss fpiy Qedsaen
L o GTLTEGSSTDRT. Seneuse Gsuaurprs Sienp&sluddlearper.

"_A)-, m..mué,Ga.rnbasfr B) OGanlgGyrelevsef
TR : D) Semevcser.

All the filamentous forms of cyanophyceae produce enlarged, transparent,
specialised cells in addition to the vegetative cells. They are known as

A) Trichomes B) Heterocysts

it“ C] Nodules : o D} Blasts.
2. Q&mwrr@&qﬁrﬁgmdr angpgpeirigund @elieurpre Sienpdsi@dng 7
K A) ” am@s;e!ﬂc&r sheos B). &fuw ys

(_3) LTS, grrmgu: ' ( . D) @appet aginpfidme.

Sequioadendron giganteum is known as
!A) { Father of f.he forest B) Tiny shrub
C) l_ Cr}ptég%m D} none of these.
3. a?tpé,asco’am mé&a‘ﬂm@&mmds rsscueo‘ﬂ :
*ang)mj {A) G&ophs qeofl Seraflar Curg G'Igmt_l.q@grrerﬂe'm_ a_@surrmg:

a0 sflewrdpg.

‘sryesoid (R) ;e spdlé umr e GuL g ebr BieTeYy sdleafeenCurs,
L L QaptgGrredeu 2_@arreugd a@&mrreﬂrpgi

af@yg @{ﬂULﬂL.@b'ﬂ'ﬂT Gl g &rﬂmrrsur ale_eowg CarbOs0 :

' A) - (A) LDDDJLD (R) @y &b s, Gmguu) (R) arerug (A) elp© &rﬂlurrem allenéand

Bl e A

B) (A) LD[DQJLD (R) @@ &f, Cogud (R) ersirug (A} elipe sfurer eeréswees
C) (A} é—1ﬂ, gyenes (R) poup

D) (A geum, .Q,mm'm)mﬂ. _
‘ ]1F—1!_59_ | : x] lm-l_ [ Turn over
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Consider the following staternents :

Assertion (A) : Heterocyst formation increases under conditions of low light

intensities.

" Reason (R):  The increase in the amount of phdsphafe in the medium leads to

increase in heterocyst production.
Now select your answer according to the coding schexﬁe given below :
A) Both' (A} and (R] are true and (R) is the correct explanation of (A)
B) Both (A) and (R) are imue, but (R} is not the correct explanation of (A)
C (A} is true, but (R} is false
D) (A} is false.' but (R} is true.
FpbaoL. aunsdutsererd seueal :

o h (A eoueiév Braursgle wLAL GUeoL  Caufsermorg

ow&sCrTenyenreurs wimdleatpe.
‘amyeooid (R) 1 eouesen eflengamareang uew alamgllaawsanasd Gl g.

£Cyp @Rl Reiren @dliigeé sflurer el omws Garbs® :

A) (A wppid (R) Gyeain afl, Cuaib (R} ereitug (A) alhg sflurer aleréaio

B) (A) wpnid (R) Grem@b &fl, Gueud (R) ereitug) (A) alpe eflurer allenédswden .

C) (A sfl, gyemed (R) peuny

D) (A seum, syemé (R &l

Consider the foilowing statements :

Assertion (A) : In pinus only the dwarf roots become mycorrhizal.
Reason (R): : Seeds of pinus are polycotyledonous.

Now select your answer according to the coding scheme given below :

A) Both (A) and (R) are true and (R} is the correct explanation of (A}

- B) Both (A) and (R} are true, but (R} is not the correct explanation of (A)

C) (A) is true, but (R} is false
D) (A} is false, but (R} is true.
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.a]

ulque I

&L Gome

&IT I €57 ‘
SLCurFdlwb
@uaﬁlq(‘éwnmwiam
b ¢ d
1 4 3
2 | 4 3
1 3 4
| 3 4 2,

uCgwé I

1.  serfisey eua@uryey

2.  syevutgllévevy Siphlerd
3. GuellgQurevGurtsel
R

Clapénider G eur.

Match List I correctly with List II and select your answer using the codes given

b

)

- d)
SPEQaer

a

Al 2

Bj 1 |

a2

D) 1

below :

a)

b

c)

)

Codes :
a .

A 2

B) 1

) 2

- D) 1

.v x

- List1

Black mold ' 1.

Mushroom
Apothecium

Basidiomycetes

NOR W WA

[y
BW e

& L b

List IT
Agcmcus bisporus
Aspérgtllus sp.
Basidiospores ‘

Helvella infula.

{ Turn over




BSA2 K
Gguﬁ'\mmuﬂs&r Heuliy s GlgeTe ngu@&,g,ﬂu@éﬂpg; 7
A) wédeflur &gmbleflsv B @&Q&ﬁg;re‘u eveuyediaray
C) Oareil Crryergéan udGeld D) Uy G&rflunb éy_tb.
‘Red rust' of tea is caused by
A) ﬁwcmm graminis - ' B)  Cephaleuros virescens
€} Colletotrichum falcatum D}  Fusarium udum

eo_wrL Guwedlwen msﬂurla‘gsurg @lgerTe 2 ®meursaiupdpg :

A lamGrrewudl : B) erpsGsreoued

C}  WH&Bsmemued D) @uaﬂ@@@rﬂ@wnmuaﬁl.
Diatomaceous earth is produced by -
A) . Chlorophyceae B) Xanthdphyccaé

C)  Myxophyceae D) Bacillarlophyceae.

umemp uSeur'r 6T 5T ) am@&&ﬂu@aﬂs&rp .................... .mmas.me.mrrmgu o GooTQy

suTMudbhe LusTLGHDS.
A} Gyrsder B) CoomGuflum
) umnibiedwr D) HerGun . ‘

A Hchen commonly known as rock flower which has bee!} used in curry
preparation, is ‘ '

A)  Rocella B) Lobaria

C) Parmelia . ' D) Cladonia.

‘Sl inrehy’ aTein) elhs Seunin e pdalL@Eng ?

A OyCerflur B) unsﬂxq.mljé»m"ﬁ

C)  evudeotd . D) Qurr@asrr@asrm_fn.
Which plant is known as Peat moss ? ' |

A) ' Funaria B) Polytrlchﬁm

Q) Sphagnum , . D) Pogonatum.

i) - [Eoen]
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| 10. asCaTd STemTe aetTy gl jenpsaliu@dng 1

A) .jy&;mﬂasar’u enLiev LTy ey B) JefiCyriLav avCBepritarg®

: . . JJ * .

C)  eaursveuflwsheur eumebSevarSlusr D) devellCuri L. smibuevigflea.

Which one is known as straw mushroom ?

- A Agartcus bisporus B)  Pleurotus sgjorcaju
_ t
B Volvariella volvacea D)  Psalliota campestris.

B 11 - QupsD u:r,b@tb ar®saflar auamalur® weon Gaupdler Sl Sowbeg ?
‘. A) alldent (peop B) g sanCreldt wenp
* ' C)  GusvGen gpeap - Dj @m@@eﬁ ergieyfldvemen.
Bentl';ém and Hooker's system of classification is based on
- A) lEich:ler's system .B)  de Candolle's system
- C) | éés‘siey‘s systemn D) none of these.
| 12 C, srayhsemmeang C , sraghsald @oha @eupeop cg{Lq.Dusu;l_ana,é AESE ()
- Gm@ui@eﬁmg ?
5 A) i _@miu 2_efrememoUL} ‘ B)  sgm Lsﬁmmmuq’
C) | ag}géém o_efferamintiLy D) @euppst agaideme.

' C, plants are different from C g plants based on
. A)  Leaf anatomy ~ B)  Nodal anatomy

C) Kranzanatomy . D} none of these.

| x .E ' [ Turn over
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13. QIBUSS EHESOWLHS TGN SHepuTarg @eubider Spiyd uasuTEDb
A)  orgrpGged) ‘ B) QeaurliGeaied |
C) QsreQared D) @é.e,r'njh_'_(%L_aﬁl.'
Bicollateral vascular bundles are the characteristic feature of
A)  Amaranthaceae - B) Verbinaceae
C) Solanaceae - " D) Cucurbitaceae.

14. @lGa smaycoiey e Gfle sraoiiu@dips
A e . B  Osdrmer
C) Gureflgeu : D) SevGedlwr.
Ruminate endosperm is seen in
A}  Aveca | B) Cocés
C)  Phoenix _ | ‘ D) ' Pistacia.

15. uarallés B 2 newdomgu uGSuTarg

+

A) GO Beowssr B) Qurﬂé;rrr‘ru

C)  yalgp E D). Blemeu c{ms&:m&.@fb.
The edible part of jack fruit is |

A)  Carpel - B)  Pericarp

C}  Perianth ' D) all of these.

16. Qarqpuy 2 pusdlureng @eubdlé meoL Cupdipg |
A} Gen@urGsmbev B} GuiGyr&edGamben
C) s SCrTQevmineny D} demenwrsedGamive. ‘
Fat synthesis occurs in
A) Lomasoﬁles . B) Peroxysomes

C) Sphaerosomes D)  Glyoxysomes.

= [1404]
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17. :rﬂ(Burr(Se‘mb&dﬂe&r g segsoa Ufllugber Cetliuspen. app ualurary
. cuea Qeiudlipg 7
A Mgt B) Mn*
-5_Ci__ [ Fett | D) Cu*.
The ion which causes the association and dissociation of the subunits of

ribosome is

ﬁ-A)-- Mg*":ﬂ | B) Mn*
Q) Fe* - D} Cu*.
! } 1,, s ’ .

18 g]&,sﬂ cysmwuq 2hn a@GLrienms e SeLULITTE a?pé;acdm..mmﬂs&r

_E Lpugﬁuﬂm umg@umcﬁlmmm ?

i

A Sl B) ab

I
(-

f:'C)"' ured srasay@ D) eviegTli.

#
i
s i B

a Agranular efici,oplasmic reticulum s not associated with the synthesis of

L

A}’ Lipid . B) Protein

'C)f’i Polysacqharide . D) Steroid.

19. @E&rrprrfo Blene Gledaaurearg hdlwnrs Gaibpre g

A Saefer | B) QsdgGarey

) - sufler D) e,

L Te'rtiary cell wall is mainly composed of

‘A).  Lignin B) Cellulose
ek
. C): Suberin | D) Xylan.
x.‘ - P | Turn over
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20. dpsaam_apyet aoma grag Qe semoiyg sC LG Side 1

A} awoGunllenms aueven B} @ Gpcsel

Cl mesor Qenpael ; D) @eLoul Gepst.

Which one is not the element of cytoskeleton of plant cell ?

A) Endoplasmic reticu-_lum B) Microtubules

C) Microfilaments D) Intermediate filaments.

21. 1g.eTebT.g. af@gﬁ@aarr@é:&ﬂuf.@sfrm geTfler HrasTiu@agldene

A) Py seflwev B) @GerrGymAermeu

C) QuprsedGsmrid : D) el GLramredor M.

DNA is absent in which one of the following ?

A) Nucleus ' " B}  Chloroplast

C)- Peroxisome D) Mitochondria.

22. SpsadviL sappsaen e

L.

1I.

III.

aanCGLrlerrs sumawrarg ayiyl Qur@sisaaer 2 Hubd Gewdlempe
ohHgib UL HEHBFETONT enpisenTs mﬂaf&@eﬂ@[gsm.
aor@Lrilenre cusmes HevLiCan wHpd @dvseflelr gyTwed - wHEID
srodl HaviGar gy fumausnd papLsr ety QgmLiy Geran®
sroyl yrphse Slull@est wppd esvegrady g dlumeusefian
@Qusspdde auflsers semwdlepe.

&IHse0 aaug srad 2 nilldr wadlu Geuamawur@b.

IV.  Jemevwor scialld wpephéldie Carad 2 q'ny Likig Qaraidpg).
Qleubpyet :
A}l 1, Hwppd I sfurere.eu B) L Il wppo IV efluererau
C) 1, Mwpgd IV sfluretenas " D) omarggb sflurareme.

x{ 1404 ]
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S
v+ Consider the following statements

11 BSA2

L ~ Endoplasmic reticulum synthesises secretory materials and

) membrane constituents.
# 1. The lumen of ER cisternae and tubules and | Golgl cisternae
'? | 1 communicate with each other forini_ng ‘passage for transport of
~ secretory proteins, lipids and §tert;ls.
- :III. : Secretion is the main fuﬁction of the Golgt complex.
5 IV : Thé Golgi complex participates in recyf:ling of plasma n;;e_mbrane.
: '. df the:gtat;:ments :
g Ai l, 1l and 1If are correct - : B) I, Tl and IV are correct
t C} II: m énd IV are correct D)  allare correct. .
23 Hjpsaador. isﬁrréaéﬂu@&mqré. seue

by (A : sFsiugure acvafsos Geran. CyTCorGsrbaeers

upsQsrpp elmearallé . abs 2 pléesamgud O @@Uu@ '

. - @&mm.- aerGe Geveuset wyluéd Fhlurs Cgaauupp garpred.
%‘e’sr}gmm (R)_' : e HTeurhis e adnabamadd Siflawrean

'l @qu@mn@&n@smnmg} afflu @opalibe ayf cugsddmper.

. k *
o $Gy oLl Gerer @Bluiiligd sflurer eflen_enw CorbQB® -

. A) - {A) LD{DQHI; R) Guo®io ¢, Gugyin (R} ereirugy (A} allpe etﬂturraoj aflenéai

; :'; Bl A mﬁ)@gb;{fﬂ@g@%r@m e, Gugd (R) asirugs (Al elipg sflures eferéende

Q) }A) #fl gyemmes (R) poup -

D} (A §>6;ng é_smnm [R)&rﬂ. 1
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Consider the following statements : '

Assertion (A): Supernumerary chromosomes do not usually have any effect on

the phenotype and hence are genetically unnecessary.

Reason (R) : In some plants supernumerary chromosomes result in decreased

vigour.

Now select your answer according to the coding scheme given below :

A)
B)
o)
D)

Both (A} and (R)-are true and (R) is the correct explanation of (A)
Both (A) and (R) are true, but (R) 1s not the correct explanation of (A}
(A) 1s true, but (R}is false

{A) is false, but (R) is true.

24. af@&a;cu‘m. surddluhseerd seued :

g h@ (A) : sraughsedld sreaoriu@id @anGmn(Bgnlb&.ai af oot & eft o

sreoiu@d GlrrGurGerbaamer el Gluflug

srgemic (R): g® ologloe graguseles sramiu@d @lyrCurGerbssr

@ealogdioan gramhsaie sramiiu@ausg ol Quflug.

ECp &P Geren P & sflurar el ows Corb@s@

A)
B)
)
D}

(A) vppd (R Quan@o &fl, Cogo (R} erssiug (Al alh@ sfluren eflenédaid
(A) vy, (R) Gan®o sf, Gueib (R) eerug (A) elpe sflurer alensbswdae
(A) sfl gyemdr (R)peoun) |

(A) sau syeé (R) e,

Consider the following statements :

Assertion (A) : The chromosomes of plahts are larger than animals.

Reason (R):  The chromosomes of monocots are larger than dicots.

'Now select your answer according to the coding scheme given below :

A)
- B

Q)

D)

Both (A) and (R) are true and (R} is the correct explanation of (A)
Both (A) and (R) are true, but (R) is not the correct explanation of (A)
{A) i3 true, but (R) is false

(A) is false, but (R} is true.
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utgué I ulgué e e Qurr(r_aﬁé] &Gy Qa:rr@ésasuu;@drm @gﬁuﬁ‘@mmm&
Qareso(® sflumen aS'las;L_emqu Gg,rrg,@g,@

UL wes I
Qg. CLall UrrL;f'ereEfr

 Qevsit

G a6 wipmip Crefe e
aliust whHpib Hi&Geamdeer

b ¢ d
41
4 2 1
2 4 3
1 3 4

uliqué IT

1, q@uﬂt@mnm&&”mné\rﬂ

2. weogeraion erarGLals
wr gl

3. e seuey wrHh

4. yGrriGLrlerregdien

Qardemin_d Qarsians.

Match List I correctly with List II and select your ansﬁver using the codes given

List I
J. David Robertson

Fischer

Danielli and Daveson

Singer and Nicolson

a)
b)
c)
@
- @dld@set :
a
A) 3
B 3
Q)1
D) 2
below :
a)
b
. ©)
)
Codes :
| a
A 3
B) 3
& 1
D) 2

1404

b c d
4 1

4 2 1

2 4 3

1 3 4.

Ll

List I
Fluid mosaic model
Trilaminar sandwich model
Unit membrane model '
Colloidal theory of protoplasm.

[ Turn over
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26. ©NECs aepeedlen auriiiifienet LrHNLDLEGD STyetHel
4A)  Guetn GupCprilen euwgl wHpD @Ggrr(%mrr@&mﬂe&r D66y
B) o@opbhs wppbd SiFls Celupame
C) Gty wppd HTFESyci c
D) @eveu Syenanggib.
The factors which are responsible for changing therfrequency of crossing-over are
A} Maternal age and chromosize
B} Low and high temperature
C) Heat and shock treatments
D) Al of these.
27, Geugflllwés apeopuliéy a_@mrréaa’l.ljuu_ e ge aphaTaig 7
A) Qgpr‘n.ﬂe‘rd- AdSlendie aaupadld 2 efer engllemLst ensCGanashars
B) gCeriuedler 5 arev gfgubars -
C) Seenandrare FEVL. 17T 63T 6oLt égﬁ'.erc&nq.
D} @eubmer ag;cqt&@eg)m.
The first chenﬂcauy synthmised gene was that for

A}  Thymidine kinase of herpes simplex virus

) ' B) 5 S gene of Xenopus

Q) Yeast transfer RNA for alanine

’

D) none of these,

x[ 1404




15 ' BSA2

28. SPpseduL mbpsen ol :

A@égjcmtp ETThS Wpevurar Pleurpoa peler  opdle sray seldlab
Qelgpanee Naad sauflutupdng.

L Lp$Carhnallue, aiematuriigus wppid 2 LH Qewedud
. ypapCsrhpaliué, eussaiuriigud, 2 LH Qswellud whpn Crrufiud

I yosCsrppalud, eaaslUTL G, '&,@aﬂws'o. 2.fli Geugdldlwey,

- 2t HGleweiud wHpb Yeireflulu,

| @mfpr_ﬁ]eu :

A lsfureng - B) 1l sflureng
C} - Nl eflureng D}  @eupger agsﬁ&s‘vms\).

b ]

Consider the followihg statements :
Modern plant breedihg requires thorough knowledge of
L~ _Morphology. taxonomy and physiology |
II.  Morphology, taxon.omy. physiology and pathology

III. © Morphology, taxonomy, embryology, biochemistry, physiology and

statistics.
Of these :
A) I alone is correct B) II alone is correct
C) 111 alone is correct D) none of these.

x[ 1464 [ Turn over
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29. gpssciil cunsdluhisnearsd sl :

ety (A) : uelow Blevw STeufhsEhse HHebwuTe aurailamans @phleransaen

BrhED Snenet aqﬁe:rﬂéaﬂe&rmg;.
srgeod (R} @ 6w uemow @mm aflevgwipy sefsamen L@QJW&@&QG&!Q@J.
&3y @rﬁf.lljll;@‘éﬁm @g‘)’lufl.;lq.é: sgflurer afleoL awg Ggﬁ@@g@ :
A (A wpmd R) @U@Q@ o), G (R) ersirug (AJ ep@ sfluran eflerésis
B) (A wppip (R) @qs&m@b.;tﬂ,‘ Guogyiid :(R) aetug (A) elp@ sfurar allerésnde
Cl (A sfl yeome (R} geumy
D) (A peup gyemeéd (R."]&rﬂ.
Consider the following statemgnts :

Assertion (A} : Polyploidy increases the tolerance of plants towards extreme

climates.
.Reason R): Autopolyi;loids produces seedless fruits.
Now select your answer according to the coding scheme giveri below :
A) | ,Béth (A} and (R} are true and (R] is the correct .explanation of (A)
B) Both (A) and' (R} are true, but (R) is not the correct explanation of (A)
C) ' {A) is true, but (R} _is false

D) .{A)is false, but (R) is true. N
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30. uliguwé 'Ig plgwed Mo L Qurepsdl, £Cyp Qar@aatiuc Gearar GHSGaamars
. Qaraor( efurés el owg CaihOsd :

utigué I
a) GaplgGyrdlev

b) @ uredlemd
c) - 2l &euly

d @l georlsmils

ePEGse :

a b c d
A) 3 1 4 2
B) - l3 4 1 2
C} 2 1 4 3
D) 1 2 4 3.

uligué IX
1. o pulf g Suds '
- Qeurdergesyb
Cupdlebee
2. 2n+1+1
3. aiflub 2 widern

4. U HHYDSD.

Match List I correctly with List II and select your answer using the codes given

below :

List I

a) Heterosis

b} Intersex
c) Inbreeding

d) Double trisomic

Codes :

a b 'y d
A 3 1 4 2
B) 3 4 1 2
C} 2 1 4 3
D) 1 2 4 3

o)

3.

List I1

An individual with both séxes
male as well as female

2n+'1+ 1

Increased vigour

Self-fertilization.

[ Turn over
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. 31.

32.

. 38.

DY LaTseT Srorefsaiu@aug eel.CLmlenms s 206 2 L SHeUTpT el

seues Henlées LG Cangamat geir @6 CuohQeTeieniLiLg 7
A) @%anéu@urrgrr ‘ B] @8enrQiyéucur
O sl yGevflur | D) @eubper ag@t&a‘amm.

To prove that the hereditary characters are determined by nucleus and not by
the cytoplasm for the grafting experiments were conducted on

A)  Neurospora | B) Chl:)fella

C)  Acetabularia D) none of these.

a,eom&a;'r effupdpers elgerafeame sfeb eie QebwiulL. sTeamyb
A)  eumemyp B) cawsods -

C) wssrsGsmenb | ' D) @anm ST H G,

The plant which is extensively studied by scientists for l'.xybrld vigour is
A) Bénana '. B) Datura |

C} Maize : D}  all of these.

EpsosaoL sabhpaenen s :

1. dsifiguewrer aems ure giramilggen Qeudeap XX whpd XY
S eonews CerbasT@b. '

I XY SIS ued HOwsav, sréfaflur whpbd GuoamesmAuid AT
greuThiselld sratiL@dng.

.  vefllgiselle ure @8rrQwrGasrd Qreluy XXY aé g

. SobhHHHEdEUTE, g HOabarOuacct HNaCyrib ereng
afler&alHEns).
Geudilé :
A 1olpC sfurerg B) NulGCw sfurag
C) 1oppd I eflurerancy l D) SeaidHgIbd &fflu.srrmmm.

x[1e04]
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Consider the following statements :

I. The most widespreéd types of sex-determining mechanism are
XX and XY types.

Il The XY male type is seen in Rumex, Coccinea and Melandrium
plants,

III. Klinefelter's syndrome is described as a condition in human
individuals, when sex chromosomes constitution is XXY.

Of the statements :

A) I alone is correct ‘ B) Il alone is correct

C) A I and Il are correct ' D) all ére correct,

SpéaanL eursdlubiserend seuad : )

aa;:_b@ (A) 1 eoel CGLmilenre gy we® weeETEGereanpdler sPluiLc Beirers.
 anged (R) @ wseréQemenpdlé 2_sfren sl CLmiletre = e ved

ael.CLrllerrs sryaiaer wHpd wel G gl o HusubBes s G
QewusdlearmerearST@GD.

af@;p P Gefrer @Piger sflwrer ale_emwp Ggﬁ;ﬁ@g@ :

A) (A) wpgid (R) @Udur@fn afl, Gugyid (R) erestugl (A) libe sflures aﬁ]srré:&tﬁ :
B) (A) whpd (R} Guesm@id &fl, Cuepid (R) srsﬁrug (A) flibg edwres eSlemémineven
C) (A sl yeome (R pam '

D) (AJ seupy peme (R) el

Conslde.r the following statements :

Assertion [A) : Cytoplasmic male s.terility is observed in maize.

Reason (R) : The cytoplasmic male sterility in maize is due to interaction of
cytoplasmic factors and male sterile gene.

Now select your answer according to the coding scheme given below :

A) Both (A} and (R) are true and (R} is the correct explanation of (A)

B) Both (A} and (R) are true, but (R} is not the correct explanation of (A)
C)  (A)is true, but (R} is false

D) | .{A] 1s false, but (R} is true.

x(3a0d] - | © [Tum over
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35. utnguwéd Ig wigue Io & QuIresdl, £Cp Qardssuul Reren @rﬁluf@ssmm#.
Q& et ® mﬂu.lrrscr afeoLemug Caips® :

ucCigwe I ulgwé II ;
a)  srLIgweuTeT 1. umé @CyrGur@ambd
DTS DO NS
&CrrGuor@smbaeir
b} He&rGad _ 2. udlf QelwiuLrg SHeg
LPSHHLLHSSILIL TS
o U CLr@srd 3. snapsSie GE».I.Ifl'_@&dt
@\ gen
d) SuGumi&sfiey . 4. ureder @eTUGILGSSD.
i@ :
a b c d
A) 2 3 1 4
B) 4 2 3 1
C) 1 2 3 4
D) 2 3 4 1.
Mgtch List I correctly. with List I and select your answer using the codes given
below :
List1 _ List IT
a)  Wild type 1. Chromosomes other than sex chromosomes
b) Syngamy 2. Not cultivated or domesticated
c) Autosome 3. Union of gametes in fertilization
d} Apomixis 4. Asexual reproduction.
Codes
a b c d
A) 2 3 1 4
B) 4 2 3 1
o 1 2 3 a4
D 2 3 4 1
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36. Qan  Grrglleten it aerg. @@eurs wrppinGing 2

A) r ot .aredr.g B} v t 91T .erébr.gr
C) megrr ST _ D) @euppeir erglgzﬂd)mm.
Heterogenous RNA is modified to become |
A) rRNA B) {RNA
C} mRNA’ _ E D) none of these.
37. g.ctebl.g UEHD G\ém.t&@mg,rb@ Qgi CpemauiuBding
A)  g.erein.g. Seogwf B) .%66](3&,& By, SefGuirer_
Q) - gyt ereét.g. Neviyot D) @euppst egiapbene.
Initiation of DNA synthesis requires é/ an
A)  DNA primer | B) Oligonucleotide
"'C) RNA primer D) none‘of these.
38. d].ﬂ.%ﬁ'. Beuglafiemen s:aflch afgpe)rr@fp ané]maﬁ@ ar g LWTUDSS LGRS 2
A) eoyGur By seflGuey B'). %r'r.sr,sblt . ureSloCren |
| C)  ae&nGur rﬂnu,é:aﬂémsiu D) GLéE uredwGren.
Which one of the following enzyﬁ:es is used in PCR reaction ?
A) | ijoﬁudease B) RNA polymérase

Q) Endonuciease D) Tagq polymerase.

x[1463 | ' [ Turn over
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39. ewlBuraram flurafliec H6dGLsgund, SurswurfGasgid @aerrd

§®$5Du®aﬂm§]
A o NCarendlen * B} flevl e
C) yCyrevevesr D) 2 HCLrGevei.

Oxidation and phosphorylation in mitochondria is mMBited by
A) Oligomycin B) Cysteine |
C) Proline D)  Aldolase.
40. Yy fQuases ererug A
A) Qargly Hengsbatiu@ss | B) asmGureaan il fazsslufsd
C) yys Seogsbslubsc D) @eubper egeaudideme.
Putrefaction is the
© A)  breakdown of lipid | B}  breakdown of carbohydrates
C) breakdown of protein [} none of these.
41. Qaryly Sevgsbsiufeoig Geleurmy cg{@;péa&ﬂU@éJpw 7
A) Qe oadldy B) prendlglig
0 SuGursGussdr D) ean GyrefiGames.
Degradation of lipid is known as |
A) | cell lysis : B} rancidity
C) lipofaction | D) hydrogenation. -
42, esserdl giwn® eerug @eualyeong e Haliy HGD |
A) Qg - g6 B) gf.eeln.g — it .aen.g
C) geoedrg ~gyteodyg D) @mﬁmjgﬁ ergiaqbléseney.
Okazaki fragment is a hybrid between
A) .DNA - DNA _ B) RNA - RNA

C) DNA - RNA _ D) none of these.

x[1404 |
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43. ‘o gt o uruleL G CarLum e o Georsduet
A) Gui st wHpD LesTesl B) eurlea wppd SHifls
C) dlhst wpgd H&ECaragear D)  USgé whpb L,
'One gene, one polypeptide’ was proposed by
A) Bateson and Punnett B) Watson and Crick
) Singel" and Nicolson D) Beadle and Tatum.
44. § g aeg aaniudeog
A) Bevew ig.6T60.g B)  @Gemmetr QawinnlL 1g e .g
C} p&as g.ad.g D) #.Garee g a6 .q.
cDNA means |
A}  complemetary DNA B} cloned DNA
C}] copy DNA D} E coli DNA.
45, Ggé’mﬁ whpd CurernT{H @smg, Qigfallsg et
Al @és suens B} guugret
C)  Uvenming D) Sevemiiy.
Jacob and Monod proposed the
A) blood group B) operon
C} ploldy : D) linkage.
46. @Geamreail sLpd areudl, Spargnid Geuhern GeTEHg 2 HATSSLILILL FTGD
A)  Semreuifh + Nemmeofi’ B | a;é@grr@ﬁéqrﬂlufn + Yenrerudl
C) | 21&@ymQuégfwd + A CGugp. D} A Gug + Gemmevidl.
x[ 1404 [ Turn over
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The cloning vector, cosmid is a c’oﬁstruct of
A) ' ‘Plésmid + plasmid
B}  Agrobacterlum + plasmid ‘
C]  Agrobacterium + A phage‘
‘D) A phage + plgsmid.
a7, yreren Glewsefier @BeammCyrllermavi el
A)  smeTyes @Gsnrr(zgrnj\emrdu@asmm allL ahp B cueniréHwenL hsemeu
B} = goudlocnbg dyrar Gaarsg |
C) pre goudoanhs HyTammanl GUDDG
D) Hesahp &cimﬂa».emé, Q& eBoTL g
Chloroplasts of Kranz cells are
A)  slightly beiter developed than normal chloroplasts
B)  without ofgénized grana
C)  with better organised grana
‘D) with distorted membranes.
48. FADH, g&flagasid seyd Curg Geoss ‘Qg,rr@_éaaﬂ;oga
A) 3gx5d E B) 2g.. |
C) lggd . D). @eubpet ergapbdomes.
Oxidation of FADH , yields |
A) 3 ATPs | " B} 2ATPs

C) 1 ATP D) noﬁe of these.
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| 49. S @@Dlﬁ]n;@sfrmcugb@é) GosCaitbeme Qalwrg Bod eag) 2
4A) &CerrGrroié-A B) sn&,@g,m%nﬁlé:
G pCarensweien D) o°o6ts)u(3&;rr|ﬁ}aﬂsisre,a&.
Which one of | the following is a non-_phbtosynﬂmetlc pigment ?
4A)  Chlorophyll b B) Xanthop;hyll
C) Anthocyanm D}  Phycobilins.
50. @GGTII‘I‘GIJ’I‘I‘L“GWFG’UL'_Q.G'\) 2 etren, rllgh Qaren Belyyss G)a
A)  Serreu@Lr evsweflesr B  SetreévGLr @ullGemein
O  eeCureCrmd D) | souflrmééie.
Coppeli' containing blue i)roteln found in the chloroplast is the
A)  plastocyanin B) plastoguinone
C) cytochrome _ D) fefredoxin.
51. o Qeaaray (w eopluwsssss QE6EDOUTWE, Fpssddm mausefld
e gggw wlidla Geseh 2 | ‘
| A)  aflepluepssd B) &t oupésb
C) 2 (Hheudd S(WpHeH& Genpur® D) ~ scugy(® ureuc SiHHSD.
WHhen a cell is fully turgid which one of the following is zero ?
A)  Turgor pressure | B) Wall pressure
. C)  Diffusion pressure deficit - D} Osmotic pressure.
52. enGmpmphd '@gﬂﬁm amﬂé.uqurras ghpd Osrereriule - GamiuTLre eg
S pdldmg 2 ' '
A) uaQeaysed Bamiur®
" Bl  Gat SiupdHsd Ceriun@
C) OGerdldluest whpbd Brrel Gupeeas Carlur® _ . '
L) @eubpst ageldme.

s[iwo4] [ Turn over
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- Most acceptable theor)'r for the ascent of sap is
A)  Pulsation theory
B) Root pressure theory
C) Cohesion and t;'ansplraﬂon pull theory

D) none of these.

53. oufiGen siflebsmer glrmolGurdymile @apfipe 2 uPdsiuBd Curis

&GRS e liwend 7

A} Cumgel B) @mmgmt_rﬂsm

C) OGuigfl (urggsb ) @Gammeor®H D .Q{@ﬁl;s&r,‘ﬁsjﬂge&n'_.

The amino acids are made vis‘ible on the chromatogram by treatment with
A todine B) ninhydsin

C)  mercury chloride D) anthrone reagent.

54. &® dmearden gramd gppararg Qebihe e Qsiddpg.

A) aleveniler sereneus Gopsdlamg |

B) olaaniler genemeu e widgdladtme ( &Q;tﬂ&,ga‘w )
Q) allewendies et wrPpHeng 2 TALTESHHN

D} el flonss Qmm@m 2 cBor() LGHTERIBE.

Activation energy of a reaction results in

A) dgcreased rate of reactioq : B) enhanced rate {.Jf reaction

C) sudden change in reaction D) steady state of reaction.

x[1404] [ 14001 ]
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. 57.

58.

27

oprflagpse QLufifeug Gabpréd asjuap @&&mﬂu@éﬂsﬁmg 7

A  esdlar Quins peden ‘B Gprds eHe

C) gem aflever , . D) elemenQum@per 2 meursain.
Naming of enzyme is governed by |

A)  nature of the protein B) enzyme code

C)  substrate reaction - D) product formation.

gout saby HbiCa sflewrs Gia Sepddapg

A)  gyevupTgled - B) flevieen

C) Aeendlen | D) grélan.

Sulphur containing amino acid is

A}  asparagine ' ~ B) cysteine
C) glycine D) leu;cine.

Spéacor_aausale ag ow’ Crrara flu GHELG gamal uusTu@RDPE 2

A CasGi g evap CrrgllGeren B) ssdlafllé gavan CorghGean

Q)  ouptal yoan CorgiGarsy D} @eupper ergicybdlévency.
Which one of the following is mitochondrial marker gene ?

A) Lactate dehydrogenase B}  Succinic dehydrogenase
C)  Pyruvate dehydrbgenase D) None of thgse.

gugelen 2 pusdurerg Geuppre oL Qupidpg ?

a) gAuGLrdGue uTeng B) @&aﬂ)@wu uTeng

C) ngu@a:rrsoﬂda J{L&lm ureng D) Gebper agiajbléanc.
Gibberellin gsynthesis takes place through

A) Tryptophan pathway B)  Shikimate pathway

'C) Mevalonic acid pathway D) none of these.

BSA2

' x| 1404 | 14001 | Turn over



BSA2 , 28

59. #laCam gurenr RGUseLTg
A spdu uese‘o@urr@g; g;lreum'n
B) ' faoL useUTAS STeurin
C) sw usebLripg Sreurbd
D) pave whpd Gl usGCUTIYE Sreub.
Nicotiana tobaccum is a
A) short day plant B) long day plant
C) day neutral plant ' D) long short day plant.

60. damL priser weealy gpsr Geseb ofogsd Gauppre 2 pusd
QebwinGHps 2

A)  eowCorevr &Cenrologm im B) | CypgubCurr ply ACiigm
Q) sgersv sgrer D) g Gerreofléseiv Aghur, |
Seeds with longer longevity are produced by
A) Mimosa glomerdta . B) Nelumbo -nu.cgfera |
C) Cgjanus cgjan D) Delonix regia.
61. euLmtéfletn CurGanTQuom eeLg
A} oD rsGmen '_ : - B) o D GaaéBrmen
0 @D ewsSsre D) B D eeséSGare.
The monomer of starch is |
A) a D fructose B} o D galactose
C) aD glucose’ | | D) BD glucose.
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62.

63.

64.

65.

. 29 o BSA2

aflenpaeies Qamagliy aqg&gp@&eﬁ B sysellagorarg aflés per Qupdpg 2

A)  QuysediGermi _ B} ewlGLrereor Hur

C) u&r&:éé&bﬂe@ : o D) o°oé,mmmrréaa15\éemb.-

In seeds, pﬁdaﬁon of fatty acids occurs in |

A]' peroxisomés ' ' B)  mitochondria

Q) cMorop!gé‘t D] 'glyoxysqmes; :

oA (Bsurﬂsur L{{Dﬁﬁﬂé“@&_@éﬁﬁ:@@ mgé&rﬂﬂms’rgﬁ)mns’gf,rr_’és‘q_.qa@_é?m@?:l@mm .
A). épc[b.mw@ ﬁma&' 7 ri? | B) @ ewu Bleney

C} . wbowwy Beva D) opreig eww How.
The cortical cells of the host root infected by rhizobia are

A)  haploid ' B) diplotd

C) - triploid D). tetraploid.

LGrrGaflunilgsaefid ygs Getbme 2 pusdhilée @ﬂﬁ@U_@;ﬁnguﬁ_L apger HBCanm
Syfiewrs Hapdivg ey 7 '

A SpeosCureetedr J Bl #ifiCureneresr

C) - urtenoe Ls,g@g,csmmm& | D} doomsGar ‘ﬁgd’gemﬁm{ﬁf&.

In prokaryotic protein Synt}fneéis. the first amino acid t_olbc.chqd;is; _ -
A)  methionine B) threonine

C)  formyl methionine - D} glycomethionine,

Foure o paflwedid Q&!ﬂ%eh)mrruq.éa Camumien. afeufiseut

JA P | B) Guefwed

C) shoevrr & D) ' amévailes.

In respiration, chemiosmotic theory was proposed by

A) Mitchell . B) Danielli
C) Slack ‘ D) Calvin.

x[1404 ] | . | 1@1 ' , S | Turn over.
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66. CAM greurhiseiles &MTLET L R EPEMVD ..oovrnerreene, 2% gHps ClersherLudlpg 2
A) Q&Gmw@mn S s et B) epCuremey 1-5-smL urauGul
Cl eyGuremrey 5 urdvGul D)  urewGur-erermér epumellé Q_getﬂL.

In CAM plants, CO , acceptor is
A)  Oxaloacetic acid " B} Ribulose 1-5-diphosphate
C} Ribulose 5 phosphate D) Phospho-enol pyruvic aci_d.

67. meyft.adr.g.alar GOLGU udSe Bellles sramuu@d - QBTLES Hlows

CETLTETGE ovovvervrrreeenenn. SL&ID.
A} UAA B) AUG
Cl UAG D} UGA.

The initiation codon found at the-tip of the coding region of mRNA is
A) UAA B) AUG
C) UAG D} UGA.
68. Guedleevav g weflub Qeuppib® 2 peaydldtng
A)  eplrgpoa HaoeluRdadsps
B) GumiLredugeng @maﬁﬂu@&@eﬂs&rmg
Cl  eoplyger wHpid QurrLl_rrer&uJﬁsmg,mlb BeneiLBsgsdiena
D) Qurliredwd soraasE. | |
Bacillus megaterium helps in |
A}  fixing nitrogen
B) fixing potassium
C)" fixing nitrogen & potassium

Dj) solubilizing potassium.

x (1304] 406
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69. gallgs urpsasmu CupOeradn®, cel weam e aplrgomer Haaiu®sgib
' s Hievogmuiifure s Geeurp S p&selu@RDE 7
A)  sugielsei B) Yo gdalsen
‘ Ci oL wBem_ Cymiey D)  syenGrmien.

Micro-organisms which lead independent life and fix atmospheric nitrogen are
known as free living A

A) autotrophs | B) heterotrophs

C} diaéotrophs D)  anaerobes.
70. Qvaoey Hlapalhe LwsTuBib Uréefuredes Syeowlurs @ea Hepdps 2

A) E:ITG?ULﬂL'.‘ | B) | e

C) eued D) smaleny.

The bacterial structure that aids in conjugation process is

A} - cosmid ' ‘B) cilia-

C)  pili ‘D) flagella. 2
71. opfiGarm yfisuid. L@d&,éluﬁ!e’u uws&:u@gg;aq(afo o ifwrs Sapfpg

A Camf@emurdiedlub @epmCoeadiub

'B) eaoevCordeflud sieven ‘
C} | y@yminJurefldursedlud syellenevbd
Dj} @GLﬁ@wna:rdv 1 e il fle ey,
| The organism which is employed in the production of amino acid s

A) lCorynebaterium glutamicum B)  Ezemothecium ashbyii

C)  Propionibacterium acetylum D) Pseuc.iomonas deniirificans.
72.  afle) B asdafliy gepurerg Qe S liLenLwTE Qe gl

A}  Qurgs seogud sagw 2 Uiy .

B) Gurgg fi sfley

C) Qurge sriue yerey

D} euiflud g&edger Caameu.
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The method of eﬁ_’luent treatment is based on
A)  total soluble salts B)  total solids ,
C) total carbon content D) biological oxygen demax-ld.
73, SpEeTL. sabhpisEeT e A. |
L usuer Gautael QB LSS é;]séusrrgg'@ _a._rrswﬂp@eﬂp@.‘
. -~ uré Q&éu_ssrmeo‘rgl yneh u@Sdler. srestiuGEDg:.
Geupdien : |
A I1afl yemd U pougy B) 1geugy Syerre I s
C) @geomid 1 whob 0 érﬂu.nrrscrméu D) @pasr®d I whpd 11 geuprearenet.
Consider the followlng ,statementé :
1. . Coralloid roots show monopodial branching.
II.  Algal zone is found in cortical region.
Of the statements : ‘
A) lis c_orrcct. but II is wrong | ~B) liswrong, but tI is correct
C) both I &II are correct - D] " both I & II are wrong. |
74. Onegis® S e usmsliurdleer 2 it 2 qoTs uw@u@&,gﬁ@aﬂg&rmcﬁ. 65T erepTen
| A) 'afmms.sfr Qurgieuns coCrmGaflumt g4
- B) aeCammeaudllidar svmts Gebliy s_cwrcq
b} . Seuseh gesmanffic eurphomgqug -
D) seoasg Q@Lq@gneﬂd\);m Be Lsemels urélaer euefinasor_ e OB e
PeraiLGsgADg. |
Some blue green algae are used as bipferuli‘zer_for paddy because
4)  they are prokaryotic in nature |
B) cyanophycean sf.arch is the reserve food

C) they are aquatic

D)  all heterocystous blue green algae fix atmospheric nitrogen.

3
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75. urseflurt georg @G @Guksdligt Qeargsra sosllopsd Qaram®

STESTLUILMEUGE ovvereirraeinene, T Y PHSHLILHD.
A) OeQurlieanyésev B} Quflleorheae
C) . bl emyseey D) gyegad.

The bacteria with a éropp of flagella at both ends is called
A)  Lopotrichous B) Peritrichous
C)  Amphitrichous | D) , Atrichous,

76. suefll wETLe Bl ymers Hloauu@sgid ﬂfpaﬂ QareoL. safipg auragb ursefur
L2 |
A)  Herrev fguib B)  engQavriud

Q) evweouCarsrdseay D) v GluGLrsrdse. .
A free living bactérium capable of fixing atxﬁospheric nitrogen is
A) . Clostridium B}  Rhizobium
C}  Staphylococcus D}  Streptococcus.
77. @ aphgddarp waduorer 2 lfl FevE @
A) mm.'.t.ﬂs&r C B)  arGurdiiCGaaier
C) stésory | B ») rqg;i‘o
Yeasi is an important source of
A}  Vitamin C | B) Riboflavin
C) Sugar . D) Protein.

- 78. a.'gp&&,n@lb Crruselle og owslsrlardwr Gurerp e fflure
Carppeldasiu@danpg ? a o

A)  s@blér ue uatiem Crmlt - B)  s@mblle ané) Cpmds

C) s@bledr cusmerwiiyeirefl Cmmis D) s@oler ybemia Crmb.
Which one of the following diseases 1s caused by mycoplasma like organism ?
A)  Sugarcane mosaic disease B) Wit disease of sugarcane

C) Ring spot of sugarcane D) Grassy shoot of sugarcane.

2 (140] - | Turn over
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79.

‘34

o6 Grrl g ePudlL ugdldle Qgruiba @b Quumndw@ ‘i Teleurgy
SepsaiuGdng ? o

4A)  aenQLAS& B} QLS

C)  ewBurymgé D) GuaktLifls. |

' When a disease is constantly présent in a particular region, it is called as

80.

81.

B82.

A) Endemic | B} Epidemic
C) Sporadic' D) Pandemic.

@leim_itcololugmeit erebrLig) -

A) g® suss Uermeviblp - B) l.q..sr;&r.ej e o LG

C)  eeard afitiyyrsd | D) : @y @5{9&@&; giedr. "
Interferon is

A) atypeof plaémld B) a pa.\rt of DNA‘

C) - an antivirél protein o D) an mterferihg gene. |

Bl TS & 8IS & T 6T urrésterﬂu.urrmé\uﬂsﬁr wreeud ey prede Sy AHdud wrt 7.
4)  3ClesCarGumeuey . B} GQuibgfias

Q) Quig D) efldden..

Who is the author of ‘Manual of Determinative Bactertology’ ?

A)  Alexopolous | " B)  Beijerinck

C) Bergy : D) Willis.

%J’oq(%aam_fr&é\eh aenp pEHFLIGOUTGL el P SBha e Gaurssiu@depen
A} Quefdéedlubd | _ o B) a&u@ufré\@@.

C}  erevQafdwr : D) QaiCaresvGurym.

The poisonous substances, aﬂato:dx;s aré' produced by

A) Penicilljum ~~ B) Aspergillus

C)  Escherichia : " D) Cercospora.

x[1404] . [14001].
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83. afgps,rr@jfo Qun‘@f_&eﬂa’:'a@ goudit greurhseiisr o ifCGaugdud adiypdlpeie
W&l Ll audlsdleapg 2
4)  eowsGar_rsdle B) oulGLr SO wsded
C)  Guslsm Lirsdlen D} eeuCeunr Lrédler.

Which one of the following substances plays an importaﬁt role in biochémica.l
defense of host plants ? -

A) Mycotoxin : B) Phytoalexin

C)'. Pathotoxin D) Vivotoxin.
84. e dCpflur Qerarsar Gaamer Camppalsdpg 7

A) 2 poasdpnds Gmn.‘.d\mm'_ N

B) 2 @oasdpuda gielflaen Cori

C) e ooasdipudéd e Gerd

D) 2 @peoasdpidie Geoadamer Comi.

Alternaria solant causes
A)  Late blight of potato B) Early blight of potato
C)  Wart of potato D) Leaf curl of potato.

85. Qg ssbdpeushHers Llipaphd wep sty sasiuGdlpg ?

A)  eeuyen Grmis B} Guésefué ngrru'.i

C) QaptyCyrélwen Weheme D). waiaié armipb gL@é&nmﬂmﬁ.
Crop rotation is employed to éliminate

A} viral disease B} bacterial disease

C)  heterocious fungi ' D} soilborne parasite.

86. @eupdlé oy weheoe Crml Gdsne 7 ‘
A)  Syyss Cpmis | B) Jdemrevl. Crmils
) @eetyded Crmb D) ugdm G,
- Which one is not a fungal disease ?
A) Damping off | B) Blast
Cc) Leaf spot . D} Bunchy top.

[ F-160 x[1404] | [ Turn over
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87.

88.

89.

36

o6 Crrl Garémpioug QumbuTgId G\senal QUTHESEISTE Sepdlpgl 1
A) @ sgennd Sipsir

B} goudi greggdler egliy gipaipp Hlee

C) 2&hs Gsuiubae

D) GCemusdHmpiiile aifiub.

Development of a disease is mostly dependent on

A) inoculum potential B) susceptibility of host

C) favourable temperature D)  virulence of pathogen.

QuueHds aermpd wrtsefle D emeTUhRET eg cueiédl alemearwhissh
peIDTES Goreapeudldens '

Al Qeulunesti et LG B) Ougli Creflud Lgd
C) fgleaiu veoL e LG ‘ D) @eeydt ar@esrn.

The annual rings or the growth rings are not weli marked in the trees growing in.
the :

A) Tropical regions _ B) Mediterranean regions
C)  Sub-tropical regions D} Deciduous forests.
gren anl Sereafien cuananLr® @6 SiglueL e g

A} Quisd wppd areOssfier éuem&;urr@

B} Gusvedllle suemsur®

C) Gandelufler suemasur®

D) (&) wHmbd (B) eyl Gras@ib.

John Hatchinson's system of classification was based on

A)  Eentham and Hooker's system of classification

B} Bessey's system of claé.siﬁcation

C)  Halier's system of classtfication

D) botl: \A) and (B).

x[1404]
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90. @ pdons sragusdis oo Spergmd soaiiiasdfie ag Cubsd
inhmid arO&aflsr muensLLT g @Lb Gubreterg 2

A)  urefOu L Ges

B) GarGurGul Ge

C) ‘(an@mrreﬂa;rr-@GL Syvengl @ersibliefi.
D) @ Seoardgb.

Bentham and Hooker's system of classification included which of the following
sub-divisions in dicotyledons ? '

A) Polypetalae
B) Gamopetalae
C) Monochlamydeae or incomplete
D)  All of these.
91. aflur Crselidar @HAmhs a@é&-&u@aﬁipg}
A)  Quoshal s . B} @eeser
C) E)LQ.GU'{_&E:ILGI?L. D) Geutsen.
Haematoxylin is obtained from
A}  Sap wood B) Leaves
C)  Heart wood D! Roots.
92, o cuevenuiisst Gl Camenpdipg
A)  wse Do asmd B) e Hieme souGemrwid
Cl  @ueinic Hloe s D} @uer..md Hlenes SeyGemmuin.
Annual rings are found in |
A)  Primary xylem B)  Prir.ary phloem -
) Secondary xylem | D}  Secuadary phloem.

. x| 1404 | : | 14001 [ Turn over
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93. #Cur auealiurqueile :

94.

L. @oea@ ‘Lné,ensﬁT'mqﬂséT .6 .g . Sae  SadssLu@darper.
Py sefGure® Gprelyseian gliemo sl iL@Hipg.

II. guyovyoeLw g.agd&r.g. uggled Cate Qelwiul@

oLl balu@darpe.
GeupPlev
A) I wiHmo 11 fwrerane B} Igeauprerg Il gflureng
C) I&rﬂqu@ I geupren g D) Iwppid II geupresancy.

In Chemotaxonomy :

L DNAs of two taxons are mixed and thé similarity of nucleotide
sequence is measured.

II.  The part of the DNA showing similarity is selected and grouped.

Of the statements :
A) I & II are correct B) I 1s wrong, but Il is correct
C) I is correct, but [I is wrong D) I & Il are wrong.

@t sryamors, Qewduss weaopdls YCITLGLTNamssans IN5CGuLmBai
Opr flaefles cpod NfEQBHLILE HpheLsas sBalLRADE

A} yGyriGurlenreul. gyenales Qulug

B) &ﬂq;@uggus&.wrrréa sHhGSe LT CLrllammevge @epey
C) @she fs Hessd Coameu

D) @euppiet ergiapfldvens.

Enzymatic isolation of protoplast has advantages over mechanical methods since
A}  protoplast is largerin size

B}  osmotic shrinkage of protoplast is less
C) ii needs more tissues

D) none of these.

x[1404] |
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96.

97.

‘ _ - 39 ' | BSA2
Qeow QUpT GRGESETeL G 5mL@w0uL®&m@ ?
A)  owush 5L e aub . B) #éellim gy e
C)  amgprevev esg:rrgif _ D)  dgmellev gpevruir.
Incomplete dominance was ‘hotiéed in

A)  Pisum sativum B}  Eclipta alba

€)  Cagjanus cajan D)  Mirabilis jalapa.

Quergl CLasefler ufammog GaTLiusEb, GUUDLSEHD @S 2 6
Cpmsagoss s _Hddper '

A} QuiGLrevGlutbeh B) OQurefset

Cl edlCursv@uirbeet D) @@ JoaGgib.

Evolutionary correlations and affinities of Bennettitales have shown links with
A) | Pteridosperms B} Ferns |

C) . Angiosperms D} Al of these.

ulgad Ig uwgue Mol d& Quresd, £Cp Qar@ssiu Geren @@ﬁ@&ﬁmé
Osnran® sfure alevoud CarhbOs® :

ucigwe 1 ui‘.nq.mén n
ca)  Gurgeurer Biraiemen 1. Jdguwrevlgio

b Bubswbn FGarmiiuc Semwliysmer 2. Gurlfquo

<) oghest udems undlael 3. oanGrmgdqures
d) e enGumit 4, AQwmenGuimt.
oDdGaer
a b c d
A) 1 3 4
B) | 1 4 3
Q) 3 v 2 4
2 3.

D] 4 1

x[1404] ~ {Tum over
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Match List I correctly with List II and select your answer usihg the codes given

below :
List I - List II
a) Common water net L. Pediastrum
b) Non-motile.coenobial form 2. Botrydium
¢) Yellow green algae . 3.  Hydrodictyon
d) A sexual spore 4. Meiospore. '
Codes :

a b c d
A) 1 2

4

3

B) 1 1 4 3
G 3 1 2
2

D) 4 1 3.
98. d&psargud pragrsdle ag / aome ardugent grauruaefiar waTamgul el aers
sHsUUOS e 7

A)  eogeflur ‘ B) ensQamemul el
" CH gyevligCrrans comest - D) gjeeu c@qsms&r&gjm.
Which of the following plant(s) is/are considered as the ancestors of the vascular
plarts ?
A) Rhynia | B ~ Psilophyton
C) Asteroxylon D) | All of these.

99. S.erév.-I He Cam.rieersy ag 2
A  gessan O, o QeusfiliGas
B) NADPH , 2 (peunggs
C) eleaomwwud P,

D &8 Syrale . wpersmpseisn aamaNsms Gaey.
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Which is not related to PSI ? N
Al Molecular O, is evolved

B) NADPH, is formed

C) The reaction centre is P50

D) 'Nl_imber of chl.b molecules is; less.
100. Spssramuameusaile arg GIFlL Led CUTAE BTeuTD ?
A} ©&ghev | ' B) earhpdlud
C) - @olubesien D) glur.
Which of fhe following is a short-day piant 7 .
A)  Cucumis B) Xanthium
C) Irppatlens D) Zea.
101. aﬁ’gpésasz;‘ML BLLposl LuaTuRsdl aes GrrCuryellafisr cumdernrs 1. caer.g.ame
Qgévelley ( amppoid ) Ewbe s aBés Guend 2
A) mu(‘smrr@gs‘u smeuid Ly fidleCaemed
Bl Ogadid Gobe aes Gy S——
C) GLeadiiy HCrques. G\as&rt_ﬁtﬂ(o‘?amm
D} * Ll Semrl engniiiflen, Ga ayedr.
DNA can be removed from gel after electrophoresis by the technique
A)‘ .Blégel column purification B}  Electroelution from the gel

' C) ‘ Density gradient centrifugation D) Dot blot hybridization. "
102. #psscor GOprHeeiie a§| Py seNCureoLaener g eretr.g. shdeiflemba Mg
a@éw“ﬂg;g ?
A) ‘Grés(Barurr Hliy sefhuen 111 B) sdsemees umeuuGL e
C) el @gésﬂ@mn@@ ws8aedy D} g.eeng. urelwlrey.
The f;nzyme which removes nﬁcleotides from a DNA strémd is
A) Exgnudeasé - ' B) Alkaline phOsphétase

C) ;Pdlynucleotlde kinase D}  DNA polymerase.

. x[1404 ' ' [ Turn over
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103. Guen® OeuaiGoupy goydifleessra QyueiCasdr Csmpp é’ﬁ@&.wma\)&mm
- Qerau® Quméeh Vermsulle Gesr Gesuaimm a;mpé‘:&uu@eﬁmg)m

A slget QeusLmi _ B) a&evlgellen Qeusimt

C) b NeflSluyer Qe mi D) gwiidleoanhs Qeusmt.

A plasmid which contains replication origln sequence of two different host
species is ‘ '
A} shuttle vector B)  expression vector

C} amplifiable vector : D) integrating vector.

104. yédomen agliseb bpaoLwy gdaet @bs e Wifleand QupHimsding

A @GLrGoraey alphls

‘B) Guéleieva @@@Q&@ﬂhéﬁ

0 evréGorGarsen o LBy o
D) Guelléevav a;mw@m:rq&@uaﬁ]wair&u.
The source organism for insect resistance gene is
A)  Pseudomonas syringae B)  Bacillus thuringiensis
C) Saimonella typhimurum D) Bacillus amyiottquefaciens

105. #@p QarGésin Peien Qun@&gm&mﬂm sTemeu srﬂmrrmu @un@mé,'lueﬁmgl ersungj
Caiibg eTHdaaybd 7

A) &1 2 Garsb —_— &Gl 1 ebr ‘

B) ‘@scﬁt‘.uurrs&r | — . @mﬁ@@mnmg@mnﬁm
O ysé adiiysHoen — S-aati@uir Lrgadenaet
D) yehewe Guri — e a1y Georeiy.

Which of the following pairs is correctly matched ?

A} Heavy metal —_ Thaumatin

B) Sweetener | - Metallothionein
C) Insect resistance — 8-endotoxins

D) . Fungal disease N Chitinase. ‘

x[ 1204 ] 14001
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108 Gluewwby HApPlaiusgrse @m;@h__ ureller s&eullargeng a.mgw&@mgg

Genmrd srsfutu@dng 2 ‘

A)  Fe ausmitiny | B)‘ QlerBul 1y & enpniflen Cawen

C) QCgljnu.(BL,nlSisvrrrd’mﬂé, ;@mmm D) @eeu ‘g{msﬁrﬁ@m..

Sexiral hybridization among unrelated species is made possible by

A) tissue culture . B) somatic hybridization

C) - protoplasmic fusion D} all of these.

107. a;ekfgmr@uégefﬁmb gudleuardlanen 2 LQegipmid  Curgy Geubeon
©_ et (LT gogi &l e pest | ‘ '

A) deersGan SliReeir - B} Oprdlee

C} st Quirenqnt. Gl Qeeh D} gtﬂa'sm'm.

On injection, Agrobacieriumn tumefactens induces the prodﬁctiori of
A} plycolipids - ‘B)  enzymes

o ramrbohydrates D) oi:)lnes.

X8, wrlanr glerard Haquurgbges Qeubllsr sallla Ceasdld Qobe
G (el : . :

A arwCamsr Qedser whHh GGerr @Gmrrq&ls&‘w.eﬁ
Bi  owCamor Qsdset whpd sNiblGurenel ey

C  SCurenau ey u)tj)@t.b adelye Qedae -

D) sSpuressucen whpid Crmi ety Qummeraer.
Monoelonol antibodies are produced from the hybrid cells of
Al Myetoma celis and immunoglobulins

Bj Myeloma cells and lymphoéytes

€} Lymphocytes and liver cells

D) Lymphmrytes and antibodies.

%[ 1404 | . ' : iTurn over
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109.

urfgsdler ubuTil @ueast. goursdldle sdemen HNPdugpers eabhs
UWELGSHBILRHDE 2 ' '

A)  oamliyge B) eplymen

Q) efdlun _ D) @y SiemaTHEb.

110.

111.

In particle bombardment gun, the gas used to rupture the membrane is
A) Hydrogen ~ B}  Nitrogen *

C)  Helium D)  all of these.
és‘gpé,a.ml_mwm ergy AOGumic.i gg’saw @)doeman 7

A) @oool:.l B) Su&hen

. C) Q.IDGh) D) oL .

Which one is not a reporter gene ?

A) nif . B) lux
C) gus - D) cat.
Slenmrerulbl_aefr erebrues

Aj eneUl v el

B) ydlu cumawrer mievogmiifae

C) urseflurelier wIyY npsei

D) urréatarﬂu.trraﬂe&r THeLTT @Ggrrmrr@&ﬁtﬁs‘u OIYSHFnD.
Plasmids are

A}  viruses

B) new type of micro-organisms

C)  genetic elements of bacteria

D} extra-chromosomal genetic element of bacteria.

‘ ‘ 14001
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112, afgpé:arsﬁan_sug)@eﬁ T8 LY 2 LUSFETLRS HHSUIGSHDE E
A) @%@grre?u@urrgrr B) Qe Heflui B
C) &;dvur'r@éamdu D) senflad,
Which one of the following is considered as genetic tool ?
A)  Neurospora B}  Penicillium
C}  Aspergillus D)  Agaricus.

113. &8y Qur@asiu@eren Sy aefla ag sapres QUIGESILL Deterg 7

A} Oprdlgsd — esanGyrennsdy

B)  ureuugenen ejg')@és Qareigpgsdr — eall.g.end |

C) e dlA —  evenugmedletm

D) Qemeubi — dlysalluey @CrrCurGembler 96
U, '

Which one of the following pairs is wrongly matched ?

Aj Fermentation —_ Saccharomyces

B} - Phosphorus uptake — VAM

C) SCP | — Spirulina

D) Plasmid | —  Apant of the nuclear chromosome.

114. goydifl Ceagse aleblu g .ad.g.oa ThEas Q&e‘omg;i_i)@ vwesuGD Cugp

2,0 G)
.A) Fambflere 1 e g, B) fusfemein
C) Qb | D} yGyrGumr i,

A phage used to carty a desired DNA to a host cell is
A) Recombinant DNA B)  Replicon
C) Vector P}  Promoter.
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115. U.S.A. allev1894 & qpedny G\g,fr@rj)&rrsmm‘ﬁﬂmrm o Hupdl Geiwi’L. apssd Giprd
A  yGhems LT&EeT - el wrenGL e B geur seowGae
C)  sivaenevstt YCrmlig Guie D) @eudpiet ergiepbloenes.
The first enzyme produced industrially in U.S.A. as early as 1894, was
4)  Fungal taka-diastase B) Alpha amylase |
C)  Alkaline protease - D) none of these.

116. vpfleaniy g .adrg. Qarfibplusesd vwdau@sd Qshdla Crrd o pusd,
HLHse wHRID Gews & HHLTOsmen ;5]5@5@m;£]smrré: @eneu 2 uWMwellesr Guesrems
SIOUTEHS é]&bpeﬁlwrg)m

4)  eventrélemgorhm @urrrﬂu.‘ﬂms‘\) 'B) oyl QurpSlué
Cl} 2 dirQgmfle prualud D) @eubpst ergaddencn.

.................................. ... is the improvement of cellular activities by manipulation
of enzymatic, transport and regulatory functions of the cell with the use of
recombinant DNA technology.

A) Metabolic engineering . B) Genetic enginecring
C) Biotechnology ' - D) None of these.
117. SpéscioL snppsaer s

L Gaélu Crrugs®ly @uéd dHpeuetih (NI ) wrerg ‘weafly Carfurais
Qaren@Lr@ymile gmsrrr@mrra»smu LWeSTURHE (pGesT (Lpg,eorrm &@Hbus
SLOUUILP 500 wkhas 2-pusd Celgs. )

I, gt @waCLsd aaug @opur® 2 oLy Paraansd® uflers
Gudsiren e getmenenl) UGSHGID PODUTSD.

. g.eerg. vpleaariy Qzmfléed mlupest vwauGisdl aapiCur
Sy @eeng satowvewu @auuGigughers walls cumrsd
oo Gurer 2 husd Gebwiu L g.

Qeipdies :
A loppo 1T sflurerena B) Il whgb IH sfurerana
C) Iwbpd NI sflureraear D)  seapgid sfurerameu.
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Consider the following statements :

L National Institute of Immunology { NII ) developed the first ever birth
control vaccine based on the hormone ‘human chorionic
gonadotrophin’. .

II.  Gene augmentation is a method - where normal foreign gene
sequences for the defective gene are introduced.

M. Human Growth Hormone was synthesized using recombinant DNA
technique for treating hypopituitary dwarflsm.

Of the statements :

A)
Q)

I and II are correct . B) 1l and I are correct

I and III are correct D) all are correct.

118. fpsaaor arsduhsemens seueh :

' é‘k;[b@ (A} . G\grr;ﬁ]e’og\;mmuﬂéu uwesTLRSSILGHD Qggrrélé,s!ﬂéu ‘e emoGeuey’

Bl péduwtaiars elenhgHing.

srjeh (R) @ yéur seowleusrarg v mréams eanl Crready Gsiding.

£8yp @B Heirar @g‘)]quLLq:s'\J sflurer alenLewg CatbGs® : -

A)
B)
()
D)

{A) wbpid (R} @resn®n &fl, Guad (R} sratug (A) el sflures cﬁ]en&,&fo
(A) whpb (R) @wo‘ﬁr@tb afl, Gueub (R) ererugl (A} el sflurer eflerésweve
(A) &fl .g;gérrrs\y (R) souy |

(A) geury yeormév (R) el

Consider the following statements :

- Assertion (A} :Alpha amylases are the most important group of industrial

enzymes.

Reason (R) Alpha amylases hydrolyse starch.

Now select your answer according to the coding scheme given below :

A)
B)
C)

D)

x[1404]

Both (A) and (R} are true and (R) is the correct explanation of (A)
Both (A) and (R) are true, but (R) is not the correct explanation of (A}

{A) is true, but (R) is false

_‘ (A) is false, but (R} is true.
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119, utgud Ig ulgusd I2 L dr Quresdl, £Cp Qear@saiiul@eien @hliGsamens

Qeremp sflurer el ows CarpOa® :

ucgwé I
canifIGLrGuomr Qg)rr@s‘u HIuib
S Crr gyemgury e Sifleong sk
Qgmifids M Lib
g eredt .67 . Nruani LNFleviorig i
Qg,rrbﬁlé HIL- LD
2 GoTempwres allewkig @86 whmib

glaaleniiiy oy ybub

b c d
2 3
1 3 4
2 1 '3
3. 4.

1.
2.

4.

ulaguée X1
g. Ga. Uyt Camdy i
{0 ng%ur.?e'm WHMID
@@éﬂ]eﬁn‘r

gren auorilemest

spitsh Qamdleurt whmyh

Fgav Bleveuees.

Maich List I correctly with List II and select your answer using the codes given

List I
Hybridoma technology
Technique of auto-antibody
fingerprinting
Technique of DNA fingerprinting

True beginning of animal cell
and tissue culture

NN = =
W = W N O
i A T *- I -

a)
b)
<)
d)
ePd@set
A) 4
B) 2
C) 4
D) 1
below :
a)
b)
c)
d)
Codes :
a
A) 4
B 2
Cc) 4
D) 1
x[ 1404

1.
2.

3.
4,

List IT
‘A.K. Francoeur

“Alec Jeffreys et al

Ross Harrison -
f‘-va

* Georges Kohler and
Cesal Milstein.
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120. greyhs@ssbens Gphomadiue adp Gerdamel LuaTLESHL Sfelud suflet

121.

A) curiflis ( 1895, 1905) B} @i ( 1963, 1967 )
C) Quif@Lev (1968) D} Gdeut ( 1963 ).
The scientist who applied the term 'ecology’ for plants is

A) ~ Warming ( 1895, 1905) B)  Odum { 1963, 1967}

- C}  Petrides ( 1968} D)  Taylor { 1963 ).

Spéace aursflubsamad seued :

sy (A) : eduliL sre @GeoGndde oo fApdasdd poQupd
| Qewdumreng Searag) a1y e pssiuBing.

sryeoid (R} : 2 effloe wdpd e géaﬂ SiLTey floedée olegeh
Ceuefiu@d Flpet s ol shisEng:.

g8y @ @erer @Oy e sfluren afowLomug Caibbis® :
A) (A) whpd R) @renin #fl, Cueud (R). Gréémgj {A) aVig sflures allenédaio

B) (A wbpid R Gueva(in efl, Goaud (R) eraiugl (A) el eflures aflerdswde

Q) (A) &fl gyenmer (R) geuy

D) (A} geup germen (R} el

Consider the following statements :
Assertion (A) :  Periodic behaviour. of a species is called its phenology.

Reason (R) : There is increase in seed output with high light intensities and
dry conditions. '

Now select your answer acéording to the coding scheme given below :
A) Both {A) and (R) are true and (R) is the correct explanation of (A}

B) " Both (A) and (R} are true, but (R} is not the correct explanation of {A)

C) - (A}1s true, but (R} is false

D) ' (A)is false, but (R} is true.
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122, ulguwe Igp vique o dé QuIpsd, £Cp Qar@sstul Geier GbllGaaens

Qenam® sflurer afe_mwg CaibCs® :

uligqwe I

WGy & el

1.

sanaflesurer Cgrenpe 2.

AT
b c
1 2
2 3
1 4
4 3

QgL édl Hemeo

ST 2 husd)
QarLirédl Hlemen

2.

w s W A

ucged I
greurd sl Basedt grevreaGal
BeET@IenL W &HTEGpHerea wrbhls
Qarerflpg, @aen aurllers serg
@BUILseng geafémsurs wrhmllé
Q&meirdlement.
e sryeflser eumlleors ghearGe
Hloveyd Sieuy&heniil fagel
orppludng.
HleyeLHge

wserd Heve Qgredser.

Match List I correctly with List II and select your answer using the codes given

a)
b)
c)
d)
@D d@aat :
A) 4
B) 1
C) 2
D) 1
below :
a)
b) -
c)
d)
Codes :
a
A} 4
B) 1
C) 2
D) 1

ListI

Pioneers

Autogenic succession

Allogenic succession

Ecesis

o "I - o

W b W N o

N oW B WA

List II

Vegetation which modifies its own
environment and thus causing its own
replacement '

Replacement of existing community
by external conditions

Establishment

" Primnary colonisers.



51 | - BsA2

123. ulquée Ig u;.'..q.uél I 2 Lt QuUI®sa), &8y Qar@éssiuPerer GRUPsmas

- Oeran@ sflurer aleLoup CarEosd :

ugqué I
Gmn@mnmu&@#aﬁ
G&n@nmq&é&m .
GaevQurenLi_Gash
S beovCaramLi-Bae
b ¢ d
-2 3 4
3 2 4

4 3 2
3 l. 2.

urgud I

1. 2 _sufwedsr

2. ' DEIPUTREGTET DEDTE -
3. - urep Qeuig Cygei
4. ybleunedor,

Match List 1 cbrrectly with List I and select your answer using the codes given

Halophytes

List I

Psammophytes

Chaémophytes

Oxylophytes

a)

b)

c)

d)
sPiGsst :
L

Al 1

B) 1

a 1

D) .4

below :

a}

b)

c}

d)

Codes :

| a

A) 1

B) 1

C} 1

D) 4

W W N e

@ N W O

I RN NNy

List 1

1. Saline soil

2. Sandy soll
7 -3, Rock crevices
4, Acidic soil.
- { Turn over
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124, gpfloe vanLasdled udBup rauané studdemss @ Cuure
Sevemriiureng Geairn Siepshaiuing

A sppé Qli-.t_tb | B) 2flwék sgaryo
C) iy SyHoé D) o awey G'}JGG)GQ.
The interlocking of several food-chains in an ecosystem s called
A) Energy flow : _ ' B) ‘Biological clock
C) Free energy" ‘ | D) Food web.

125. evrg et wen Siete) Gebeur s,mé,é;\\_f_:u@‘eﬂip@ ? |
A yehiue fhlerer graiphssiler ureuaTsaer
B) Ty sl L SleT cuens
C) err@g. 2_hudd
D)  @eubper ergiaylldae,
The amount of annual rainfall determihes
A)  the geographical distribution of plants
B}  the iype of vegetation
C) the net productivity
D) none of these.

126. Gy wrgflurer wrus slLmvlysoas CQerare gafl 2 dlflamers Qameo

Fal L DTN g @eleumyy Syephalii@dlaTng 7

4A) rGameLil B} uBumrenLy)

C) wQarQ@Lmebr D) @eubper agabaeme.

A population of mdliriciuals with identical genetic constitution is named as
A) Ecotype B} Biotype

Cl Ecotone D) none of these.
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127. 56 @Q@mm Qgrgifie g 2 Muller Lksrerg @by s pbalubflsapg 1

A)  @phlaenfue gogr Bl spdeoadiud BiCe |

C)  @phaosilud o D) edidlev,

The‘role of an organlSrh in an ecosystem is called

A) Ecologicai boomerang ,l B) Ecological niche

C)  Ecological efficiency D)  Ecesis.
128. QumhmL el g LGHluTarg aeieurp S &eLUGEDE 2

A sunmlil GLryd ugd B) & GLryé ugd

O @erseugn SILGLTyé LGH Di odsréd usd.

The bottom layers of oceans are known as .

A) Supralittoral zone 3) _ Littoral zone

C)  Infralittoral zone ~ D) Abyssal zone.

129. srpdlar Gaussos sOHlushers bis fsamald pLULDD vrksomer GRLLSDE
@&Cerer LudTURHTZ o

A) | dvemuss QU6 B) Guflur Qué

C) Qeydli GdL | D) SféaSurevsrt.
Extensive plantations of trees to check \}elocity of wind are called as
A) Alpine belt B) Barrier belt

C}  Shelter belt _ D)  Silvi pastures.

130. MAB @izvanéd @hé&dlamng

A} ‘GU)UJI"T. Sy eoT e whpid tlevemyu

B) wefger whpd vwrgé sbibly ey

C) wellgar, genguurigsser whpid umsefur

D) wesflgen whd 2 ulTCamed.
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MAB stands for
A) Mayer, Anderson and Bisby B} Man and Biotic Community
C) Man, Antibiotics and Bacteria D) Man and élosphere.

131. sepe po srled aertiy o Gdhe ahg cues sraughsed Catey
QelntiLdeps ? | '

Al OGur@enraryd wéflusgeud eurlihs gfrmgsﬁlﬁeﬁ
B} cgbp@wsur cueniiflener Geut 2 emLw Freurhiser
_ C) Coumion s cueny&Heaqw) SFeUTHS el
D) Qugeurs cueryéaniqw Sreuhigel.
What type of plants should be selected for social forestry ?
A) Economically important plants
B}  Plants having deep roots |
C) Fast growing plants
D)  Slow growing plants.
132. u.iléng,: L_ljléitg. 6Toall ebr aS\rﬂsqr
A) o8 gl prmUTHse
B) 2 o& cueteurpey B
C) 26 wuyd whpd &

D) 2 @& custallemigser HDHID HTeUThsHeT.

WWF means
. A)  World Winter Fluctuation B) World Wildlife Fund
C). World Wood and Fire D) World Wild animals and Flora.

133. fpsaanLcupde erg wre Carppalitiug Gdeme 2
A) e BletdllLid '‘B) GurlLmt sursemrhiel
C)  dysdefur g pmé HLid D) - i Bleir i id.

x{1404]
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Which one of the following does not cause pollution ?
4A)  Thermal power project ' B)  Automobiles
C)  Nuclear energy project - D)  Hydroelectric project.

134. sppiiyp Gphlaeule wrams Gopsadle arepb o diflamasien Lueur® ereuaumg
' Sieopselubdleng ¢

A} LCuryiog Cus s B) Qeuevl L. Quedorl

Q) Luﬁ]rﬁmg\u DT & | D} OussCarmismefélen.

Thé use of living organisms (o degrade environmental poliutants is called
A) Bioremediétion B) Waste treatment

C) ﬁiological pollution D)  Methanogenesis.

- 135. warywsseiar 2 LGunssfloa Qaran@ sfo sflomoma fogsheb e Widamga;
Wpeon Geusurn SemphalnBSing 7

A? fé@Geu gk ' Bl & & QeuefllCuppisé

C) Qeord sbGumevigk D) @eubme ergaypdlédene.

'I‘he biodegradatibn of organic waste by earthworm consumption is known as
A)  Briquetting | B) Sewage disposal

C)  Vermi composting D)  none of these,

136. veawhurhe aafiegdles Camatpd sreuy QarLf cueriédlie @eLeaurm
S Pp&HUUBSDg 7 '

A NpGarev bt © B)  evQumey el

C} aprGemen elit D}  e$Gpme i,

The vegetational succession that begins on the sandy habitat is known as
. A) Lithosere B) Psammosere

C) Halosere D) Xerosere.
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137. Quean® cusnswrer 2.ufle sl bhser pafigsallure Sewbg, parbiame gpam
urdlsaiue moe GEHHGbOLTE Seme Glelarn enpsaiL@dlaing ¢

A} Guriy B) fdyseureisn
C)  easevllenmiCLayer D) flyrgeilen.

When two populations are quite independent and neither population affect the
other is known as

A) Competition B) Mutualism
C) Exploitation ' D}  Neutralism.
138. Gzélu gfle Hlev Cubur® Hyeoammud Qb 2, ETH 2-HEUTHSHILLL & ?

A) 1985 B} 1995 |
C) 1987 - D) 1988.
National Wasteland Development Board { NWDB ) was established in the year
A} 1985 B) 1995
) . 1987 D} 1988.

139, app gresn yGrelud Guiues GP&H&ng 1
A) sﬂu!_ﬂwrr Bl SloorCenmgm Bl  yGrrGsriilev SerGyiflum
C) geavuey wapCoiflsy | D) euasey whpd gOefliugey.
Which plant indicates the presence of uranium ? |
A Lippia nodiflora B)  Prosopis cineraria
C)  Zizyphus mummusaris D) Pinus and Juniperus.

140. wianrg wre sryafes Heapdiear Quuts s 7
A) sblellu Caaraer, Jammells CaugluGlummet, DDT
B) DDT wppb svGioré
C) seur oL Q{,é,mm@. srtues Gurerr&eameu(d

D} eopuggeilds s saman@ss.
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The non-degradable pollutants are
A} Aluminium cans, phenolic chemicals, DDT
B} DDT, smog
C} S0, .CO
D) Oxides of nitrogen.
111, Geoaset 2 Oflctasare Haosse peurs wrs srradser
Al  somaoinyg, Serrevgé, ysSlebiardedaer
B) DDT wbmub 2 jhuser
C) siflaydt { efleuery syplaymer )
D) @leubmst egodema.
Non;biodegradable polluiants are
A) Glass, plastic, pesticides B) DDT and manure
C)  Sewage { agricultural waste ) D) none of these.

142. Geubmer ahg Seowvliurerg syuyd deeligiers fpdlarbsealar wuallagas
sEULAS sraulss eteale urgeTiy Qer@adaps @ .

A) IBWL : B} CITES
C) WHO D) WWF,

The organisation which protects the trade in endangered species at international

level is
A) IBWL B)  CITES
C) WHO D} WWF.

143. el dvmay wlGd aemiuglamd wvaneallbe gpuGd Fusrs oo
gispdlamg 7 '
Al dogsy Bl poss Gopsdldpg
B) uwauaan sblegsadiown Heasrs wrhpddrng
C) (&) wppd (B) Gyeir(id
D) @mg’;@a‘r ergoylidene.
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144.

145.

The harmful effect of morioculturing of eucalyptus on soll is that
A) it reduces water table B) it makes the soil acidic
C) . both (A) and {B) Dj .none of these.

DESEET eueTUILGHET e Q&mﬁlsﬁnﬁmmm Gopseh Cprésbhg . aT@ euertiy

wHnd alleusrud GeewiEs WD Ggrr;pgpmﬂésa.uuu_ﬂ Qbuwonsd @u@umt’r
upksILRADE)

A)  gOnid eueniiy B) ‘wrpp euentiy
C)  Lmhswr gpesp ' D) uld sppd.

In order to reduce the expenses over plantation of trees a system of forest culture
plus agriculture has been evolved. This system is called as ‘

A)  Jhooming cultivation B) Shifting cultivation

C) Taungya system D) Crdp rotation.

apspefssiurs QuULCrrdu aantemuou et Hepey FfHurs HAogiusde

2 hpd Hés paors éla;g‘péugj I

A @GLrGorensy z_ﬂgal_cq.:_.}

B) sCurCudlme 5GuT.ey savlL erey

C) QaGrsverfldend GlLirméendl aray

D) gCurCudléevav Glgméedl arev.

The strain which s effective in biodegradation of crude oﬁ is
A) Pseu;iom-onas putida |

B) Thiobacillus thio-oxidans ¢

C) Leptospirillum ferro-oxidans

D) Thiobacillus ferro-oxidans. .

x[1404] | - [14001
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146, NsaflGarmanewdien a_cém’.rré:@i.‘n 2 Wflureng erg 2
A yewtgldewey epait - B) QLJ@@T#G’J/TG&L’ G evGuimiflud -
C) @uwﬂe;%ﬂwrb CaurdleGer L D)  yelyGar Coevbrgl .
The organism which can cause lignino}ysis is
A}  Aspergillus niger ' B) . Phanerbchate chryosporium
C) Penicillium vermiculatum D) Albug'o candida.

147. Gaupdlé erg sflurs QurEESILC Beiterg 2

A)  rpmyrr — DL T

B)  pGymyn - A C)

C}  sdurésb — @ reevugmest

D) GerlLnm — Lﬁ,é\qtﬁlq(}%g,&m.h

Which one is properly matched ?

A)  Tarapur - Maharashtra
B) 5 Narora _ — | Tamil Nadu
C) Kalpakkam - Rajasthan

D) Kota — Uttar Pradesh.

148. GaGaur‘rarréx@gcuﬂc&r s aETUS!
JA) aggeme + Qggenr: b B B) GCalevrencen + argspeime’
.0 GaBevreneuest + nggmm D) Guggeimer + Gymliuenmé.
Gasohol is a mixture of |
A) Ethanal + Methanol B} Gasoline + Ethanol

C)  Gasoline + Methanol D) Methanol + Propanol.
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149. Geven QU Cyrelln rah aesipy Siemipseluhiing 2
A}  eapleuae ‘ B) g Gyrum
C) Gumryev D) gueradlur.
Which is known as petro crop ? | o
A) Hibiscus _ ' B) Jatropha
C} Morus | D) Opuntia.

150. allavguilet geflsarasan 2Lpssfoadla Qurus, o Cuomaurag
(uewilurerg ) @eubprer Hlapssiu@dlamg

A) g sealen B) | sl G rensaie

C) | U GLreGrmb | D}; Sihe:s cuemifleng wrHHlGe.
In photoperiodic dormancy of seed, some role is played by

A)  Auxin B) Cytokinin

C) Phytochrome D)  Organic metabolites.

151. dpeeane apsragphe olpdHocurag aamlLrauibsger gpore
pergdbe cuenteuCar® o avrenaiyd 2 SighsdleTng 2

A oG B) Qgrsmi
C) Hoss_oe ‘ D) i,

In which plant does the cotyledun: grow deep into endosperm and absorb

nutrition ?
A) Castor - B) Coconut
C) Peanut D) Orchid.

152, yilwiul L aasemibn ofleng (pemerly amb@alluurdisefld, Blalu Syuenmer gib

Sidlatugurs 2 uCUTA&&ULGMAIGELTET 20 6HGaMILTETSHER . .o.occcvvrerea QUG
A} Quriimdlud emligCrl B) umprévartis oubleud

C) smeveuBsst _ D) =Goreflur:

x[ 1404 ]
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Of the numerous promoters of germination known, the most popular and widely
used promoters include

A) pdtassium nitrate B)  parascorbic acld
C) phthalides D) ammonia.

afleng 2 plloer, B whon % sallgd WBEas mpuauTsad hey olog
2oplloa Sapg seallflum.pgpse afl Geluayd SHheg 2. pOsudiud
fHure peoLuDPETEMD GBEs o) Celyd Geopurag GdaTprs

. Seopselu@ilaTpg
Al g Crig oo lCaayesr B) uCaMNCaaysr
0 gOetarsmaGsayer D) @eubmen ergieyblevaney.

154,

Anv method that renders the seed coat permeable to water and oxygen or breaks
the seed coat so that embryo expands or is not physically retarded is known as

A) stratification B) scarification
C) devernalization : D)  none of these.
&14.501 alleog 2 purang @euhpre -a_rpésea Hleneud@ &ITyemTOm S
A} eury uflurhpsans sHHSN

Bl fif flgpEson sG55

C) @u.lg'uurrear apeopliles Hmallas suem’réé]uﬂcmeuyﬁ g,@&,gd)

D) @Gereu SmeniHgh.

The hard seed coat may be responsible for dormancy by

A) preventing gaseous exchange

B) pr.eventmg the absorption of water

C) mgchanically restricting the growth of the embryo

D) all of these,
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155. wasrsGarasdlar QUBLUEGSUTETE SO EEME Sy@1  aregerGLrev@utbiome
S dlyerengl. Geveu B Qed Sywer Qaram. SHpoy cg{@éss,rrsu @&puuL_(aeneng]
S @eleurpre yenpsslL@Hleaing 1

A  Garéd 9046 B)  sllyprer 066
C)  uLe 0ES . D) @eubguet ergiaydldanen.

The major portion of arrna.lze grain is occupied by a lérge starchy endosperm
surrounded by a special one-cell thick layer called

A)  Dermal layer B)  Aleurone layer
C)  Sheath layer | D) none of these,

'156. sy aflows 2 cpdamed ghubd ofams Lpse Baewrearg @mmtprreu @ché.@
Carem® cuyeumd

A} e H,S0, & alogow smpaneutiuglenme

B) w@afNCaayer (araniads (2 ) Snsd )

C) sdsaprdle aflagow &upaaudiearne

D) Qe emarsHHb.

Seed-dormancy due to Hard seed coat can be broken by .

Al soaking the seed in conc. H,SO,

B) scarification
C) washing the seeds with alcohol

D) all of these.

157. 2. pés dloedlauras gHuld LL_F_DQ&UJG\S]UJQ) brHhphsaTTarg @euhonsd
Glan e Remeng

A) aentsdly gL beryafaer Czmernise
B) euenitsdlg greiLé srpeiaet Camaipise
C) aersfg goLé srraiaer waopgd

D) (B} whmud {C) @yesorBibd.

x[1404]



, 63 BSA2
The physiological changes during-:dofmancy include o
| -A) '_ appeare{nce of gf_owth inhibitors
B) ' appearance of growth promoters
C]“ | disappearance of growtﬁlnhlbﬁto_rs
D) <bot.h (B) and (C).

168. ue &,smens.'aﬂe.\)'; allogsearrarg $nése mloesgl Dy mmg;&:érrm&,i]do
weoasdldmpg. seare GaCudlperasde @phloe erssohpSTS RebsT
alengserang dla %@&,@& Qmﬁtj@ Apdlenpg. Qesmsu 2 p&s Hoaurarg
@si.tsurr@ amp&aﬂu@eﬂs&rmg ? '

Al T gpuewourer 2 phohlee : B) urd) 2 péaflew
C) @paoLrblene 2 poadlee D} wserd flow 2.p&s Hlaw.

In miany weeds, seeds germinate in winter after dormancy, but if conditions are
not favourable in spring season, the seeds are burried too deep. This type of

dormancy is called
- A)  Obligate dormancy B} Facuitative dormancy
C) Secondary dormancy D)  Primary dormancy.

159, Al afevgaefle, sgararg euaisdl goLuLroa, Crpryurs wevergg Fm

grarsems ( orop ) Ceropellsdaper. @pslspey  Geaurpre
S psaiu@dlanpg 2

A auCaAsiiCaaysn B} @gerdflee o_phaboe
C) _@UIGO"QTI_ITI'D[B]GU)G\) 2_mé&aHlene D) aflafGudl.

In some seeds, the embryo grows directly into seedling without ceasing growth.

This phenomenon is called
A)  Scarification B)  Primary dormancy
C) ' Secondary dormancy - D} Vivipary.
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160. GariL&0sgealler whiy yhuwrs. GessbOUTWS), uFauararg Gldongausde

161.

sremuUBSaTps 7

A J-eugeb B) U-eugeuid
O  swédi eugeud - D} L'QJLQ.QJE[;.
When coefficient of skewness is zero, the distribution is

A)  J-shaped ' B) U-shaped

. C)  Symmetrical ‘D) L-shaped.

Epsacn. ansflulisaas s

sm_bbj (A : @l Swg Si5HEe Cubuit Gup&ssfid @mmﬁ,ﬁ, A
desapdloa aansdPoug Guebangu GeTpTGb.

&rfqamfn (R): sréwrar olewssvrarg savsdlude Fddlerer L@mﬂ&&&,é\ﬁ)@
g,_@ﬂ 2 LW .

&G G Gerer @iy sfurer el owg CafpQe®

A)  {A) wppb (R}@ga:h@m #fl, Gueud (R) eresiug) (A) afp@ sfluner afleréad

B) (A wppd (R} @gan@i sfl, Gogud (R) astrug (A) eflpe sflurer aflenéewde

C) {A}l efl gyemmés (R} geupy

D) (A geup e R &l

Consider the following statements :

Assertion (A) . It is possible to calculate the combined standard deviation of two
or more groups.

Reason (R) : Quartile deviation is not capable of mathematical manipulation.
Now select your answer according to the coding scheme given below :

A) Both (A) ahd (R) are true and (R) is the correct explanation of (AJ

B) Both {(A) and (R} are trge, .but {R) is not the correct e@lmation of {A)

C)  {A)is true, but (R} is false

D) {A) is false, but (R) is true.
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162. uCgwé e Ligué K2 L cr Qurmsgl, FGp CarP&aLLPerer GluGssens
Qereo® sflurer afloLomug Carbs® : |
' wlquée I . ulgué II
a)  psocuas Ny 1. wuowsosred ePss saammel
Qb Cur g ey o o rdipg
bl @o@mird cuene ey 2. CupELY ugeuelier @l'_l_- aNlevdaib

o gliuflenp 3. EeCegn aplsremearg o amawwTe
' LB&GLOUTWE SereriLGEeTng.
d)  sQpELy Viap. 4. @eblegnb sr@@e,lrsmrmg; Qumburs
| . @EéebOuyE THps
QamrererLB PG .
sPld@se : |
' a b c d
Al 3 4 2. 1
Bp 4 3 2 1
Ci 3 2 4 1
D) 3 4 1 2.
Match List I correctly with List I and select your answer using the codes given
below :
List I ‘ List II
a) Type I error 1.  Error arising due to drawing inferences
: about population
b) Type II error 2. . The standard deviation of sampllng
distribution '
c¢) Standard error | 3. Rejection of null hypothesis when it is
true 7
d)] Sampling error 4.  Acceptance of null hypothe;sls when it is
false. '
Codes :
' a b c d
A 3 4 2 1
B) 4 3 2 1
0 3 2 4 1
D) .3 4 1 2
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163, uique Igp ulhusd Iz dr Quresd, &C)p Qar@ssiu @erer @ihiGasmeansd
Qerao@ sflurer allon e LI AETC 2

a)
b)
c)
O
a
A 1
B 2
C) 3
D) 3

1

2

2

1.

i .
uegue IT
cusneneumengs Ulenmiig siiem Bema) SLGD
cusmeneunég QaliBLr ssL Herey 2SI

cuaeneurerg SGeT S STy ZLGID

Match List I correctly with List I and select your answer using the codes given

below :

a}

b)

c)
Codes :
| a
A 1
B 2
c) 3
D) 3

x.

List I

" B,=3

B,<3

B,>3

ListIT
The curve is platykurtic
The curve is leptokurtic

The curve is mesokurtic.



164. QETESSILLL cuepuLser Lig o Let Qarmler eussureg)

A}

B)

G

D)

As per the given dlagrarn the type of correlation is

A)
B)
C)

D}

67

Y

siseney Crflan g Oooy
Siflseney afifleoL. g Gpey
eoppsere) GpfloL GrOpey

@oppserey afiflar GUEDe.

High degree of positive correlation
High degree of negative correlation
Low degree of positive correlation

Low degree of negative correlation.

| F-161 ] x[1404 ] 14001
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165.

Spsada. aursdubisenend seued
sapm (A) : oeaiss [y 2 ) Corpoourarg SiFalugurs Heuprsl
LUSTUHSSILGD Cargaranaefic BTG,

srgemid (R) : @euplesr  sfuren  wweumigenen  aeflgres  sppsOsTeien
Guevaldenes.

#Cp Pl @eter @Pluiigd sflure aflorows CarhEs@ :

A (A oppd R) @remed afl, Gogid (R eeiig (A) ofpe sflurer efleréai

166.

B) (A whppid (R} GueoGid efl, Cogud (R) adug (A) afibe sflure alerdswde
C) (A ofl gemédr (R) geuny
D) (A pog syeme (R) e,

" Consider the following statements :

Assertion (A) : 7y 2-test is one of the most frequently misused test.
Reason (R) : Its correct applicatioh is not so easily learnt.

Now select your answer according to the coding scheme given below :

A) Both (A} and (R) are true and {R} is the correct explanation of (A}

B) Both (A) and (R) aré true, but (R} is not the correct explanation of (A)

'C) (A s true. but (R) is false

D) (A) is false, but (R) is true.
dpbadorL curbflutisenens seue :
sappy (A) : GrfleoL GamiL uyauede el ge whHlurarg Blas Gapey.

argeoid (R) : Gpfles Gamic uyeusiic @ml_@me\:mrrm@ sgref&@n ol igheb
' G Cu ebhgieTeng. |

& ePu@efren GHluliligd afumes aSlsm_mmg Carhg@ :

A (A oppd (R @resm@d s, Gogid (R) esiiug (A) alp@ sflurer alenésh

Bl (A wbpd R Qo sfl, Gogib (R) g (A) elpe sfurar alnésinde
C} @ érﬂ e (R) geup)

D) (A pap o R ef.

(1404]
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Constder the follovm'ig statements :
Assertion (A) : In a positively skewed distribution the value of mode is least.

Reason (R) : In a positively skewed distribution the median lies between mean
: and mode. - -

Now select your answer according to the coding scheme given below :
A) Bdt_h {A) and (R} are true and (R} is the correct explanathn of (A)
- B) Both (A} and (R) are true, but (R} is hot the correct explanation of (A)
C}  (A)is true, but (R) is false o
. D) (A)is false, but (R} is true.
167. Qar(iésiu @eret euenpuL SHleTug 2L e QTLisQsgede wEluTeg) 7

A x -
< % X
Ed y m ‘
. .« 5
x e "y\
A
x S v X
P
w 4
o 5
. _ x
‘A) r=0 : B) r=1
Q). r=-~1 D r=+v3.

The value of the correlation coefficient as per the given diagram is |

A ‘
. « o= X
bg x x
EN % < . K
x A
x ® < x
o '
*  x = x o
i e
x
A) r-*‘O B) r=1
C) r=-1 D) r=+3
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158. Qar@asiul_Heier cuyuLgdlerug 2 Ler Qaruiys G\&:@aﬂs&! wéllure g

YA
—
X
A) r=0 ‘ B) r=1
C) r=-1 D] r='\/—3.

The value of the correlation coefficient as per the given diagram is

Y
>
X
A r=0 Bl r=1
C) r=-1 : D) r=v3.

169. Spssau smbpsmeer s :

L Hgorer swidfynm ureuele sl @ésyrefl 2 Quussperref 2
@evesangmed]

1. geoLfloeurag ouiCursg amaauflar s sl lul L

S{ETEUTGID.
@eubidlén :
4A) 1ol @b sflurerg B, IIuw @bsflurers

C) lwbmp I eflwrereneu . DY @uen(@G peuprereme.

x[1404 |
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Consider the following statements : |
. Ina moderately asymmetrical distribution AM. > G.M. 2 H.M.
II.  Median is a computed measure of central tendency.

Of the statements :

A) I alone is correct B) II alone is correct
C) Both I and Il are correct D)  Neither of them is correct.

170. Spéaco. amsdubisamensd sHeuah :

sy (A) xﬂaaéé]gﬂui wHpd  Bauouflu seaseamag Gorgloaaw
: urgltiudlaens

engeoin (R : GeLfloaou sarsdGoouregs awowu wHliyse vl @b samsde
aQdgé CQamereriu@elaTpen. '

EQp eIl @eiter @il sflure ol owud Carposd !

A) (A m;b@ji.'ln (R) Ques@bd &, Gméufb (R) sretiug) (A) i@ sfluret aflenédsb

B) (A vppd (R Gran@o efl, Cogib (R) ereétug (A} aMNbe &rﬂmrrq ellen& ey
C) (A &f g (R gyl

D) (A seupy e (R) s,

Consider the following statements :

Assertion (A) : Extreme values do not affect median.

Reason (R) : While calculating mcdlain only the middle terms are considered.
Now select your answer according to the coding scheme given below :

A) . Both (A) and (R) are true and (R) is the corret;t explanation of (A)

B) Both (A} and (R) are true, but (R) is not the correct explanation of (A)

C) . (A} is true, but (R) is false

D) (A) 1s false, but {R) is true.

x[ 1404 [ . [ Turn over
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171, pfipprine uvpheydarréd LwesuPSSILED Spsao TG wEHge
sTeughiseflds eraneu Cmmiis @en&r_ﬂu@&,gug,éo fhure peupral QUIESSTILL. Heteng ?

A) stumrflay CemiSwmflur —_—

B) _a:rsbG’currG’urmr' Glurt e mr—

C)  HCsdlur By amr —_

D) yéddlur OCeudus —

Gt saprengy HTLEHOS SEOTLLDSEIH®

safl wppd Cafldlphy swrfssiu@o
segrunreng Ll Heusd wHPDL STLés

- @TILQEFHISS

Goeast culippiCurdlibe

uweTURSSLILG SlebTmen

CYE LT q;_,e'rug;m'rrmm GETUUR S
ume&ru@é\s&rms&r.

Which one of the Ethanomedicinal plants used by the tribals of Tamil Nadu, is
wrongly matched with the ailment ‘cured’ ?

A)  Capparis sopiaria —
B) Salvodora persica —

C) Acacia nﬂoticq _ —_
D)  Albizzia lebbeck -~
172. &psaao_ samppoeen gyl :

Root pulp cure wounds

Decoction bf fruits and roots cure
Rheumatic fever '

Leaves used for dysentery
Leaves used to cure Asthma.

I.  wésdfldr vy polléoalla srgamwre g alEls grapbsd paG

UTHST &SSO EesIpeoT

I. po adpletsdld bls sflgrs aan_dlésgsst arasniu@dlampe.

Beubpé
A) QTN arﬂtulrasrgj

C) @uea@bd sflurearansy
Consider the following statements :

B} TNwlpb sfurerg
D) @gam@d geupreraney.

-

L Sacred groves are best preserved due to religious bellef of people.

II. Endemics are rarely found in the sacred grdves.

Of the statements :
A) I alone is correct

C)  Both are correct

B) II alone is correct

D) Both are not correct.

x[ 1404 14001
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173. dpbscti sraugnsald aeaa Hfamrflasamd Quirgeamra oLéd poddpera
 oebg surfiudpers LuaTLBESLLBE TIPS ?

A} aéeflim gy eéur B) gysevrelev sniaflgCar
C) OClyurerev senL.euav D) ' &GamGyrenu i SipHend.

Which one of the following plants is used by tribals in preparing a drug for

general health ?
‘Al Eclipta alba B)  Oxalis corniculata
C)° Raphanus.sativus D)  Chlorophytum sp.

174. aps Quésd wgsn woedla o sy SyCse wrfle dyrvsg o dard Cuansenrd

Ggrhsliuc g 7

A) APPIKO B) Tehri-Garwal

‘C)  Chipko D)  Sundar Bahuguna.

Which movément was first initiated by tribal women of a village in UP ?

A) APPIKO B) Tehri-Garwal

C)  Chipko - D) | Sundar Bahuguna.

175. grQeureviShur &ri’uszirsz;n_soﬂroﬂs&@rj)gj QuUPLUUED ehe SwemmiLrarg Blighbs QIés
2AWHSHOS GODILSHE LWSTUGHDS 2 |

A) | fleemLisst A B) &Garrrf,]@e&r

C) dlyeverss D) QGamges.

Which one of the alkaloids derived from Rawwolfia serpentina is used for
lowering high blood pressure ?

A) Reserpine B)  Aconitin
C) Quinine D) Codeine.

176. uphere GbhdHuraie, Csror-oan JINEOsE&EED, sTamrg gragwrs G

o phgeor ?
A) oy Carerdlym umrGeurefiwm B) wwefl_r wevsrflur
O earGrir auGseL dray ‘ D). Efub G)esbmig ssib.
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I ancient India, plant of immortality from which ‘Soma’ was extracted is
~A) . Adenanthera pavoriia B). Amanita muscaria
C) Entada scandens D} Nerium tndicwn.
177. EpeacaL sappisaen 3y : |

I aran. CyrGh_&n grer GlrGwerGrewreang Goul et HéeTsL

UWesTLRSHSLLL LS.

I. @eveu persdigly Beurgesiursl vwetuRps:.

@mm(ﬁ]s\) :
A)  TLopod I sflurereel B) . Iwpgd II gsug)rréurmm ‘
C) &M, I geupy : D) I geuny, II edl.

Consider the following statements :
L Chondrodendron tomentosum was used as a hunting poison.
II. Itis used as'a muscle relaxant. |

Of the statements : |

A) I &Il are correct i B) [I&II are wrong

C) Iis COI'I;CCt. but Il is wrong - D) s wrong, but II is corr.ect.

178. Corlmrur aam@emiurarg a@QuitCGaud llabe wrHpTal uﬁ@u@aﬂry@.

Bos @HNEbe INB0s0ssILEADE.

A umiggeflub syigperGih

B) L QurevCamflur dlermigm

C) asrerCrrL e grer OO CL T &

Dj afl.tbwrraim'ﬂuﬂr m&érdrﬂdv.

Jojoba oil is a substitue for sperm whale oil and is extracted from

A) Partheniuni argentatum B)  Dioscorea glabra |

' C) Chondrodendron tomentosum D) Simmondsia chinensis.
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179.

180.
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182.

75 BSA2
ue BrRseficn, @hdlu urbyCaugren grlaumeroiilur siueran anr euresig @eupernsd
@ULPES 2-HeRlapg
A) LDEhF 6T HITLDITENE
B} uwleflur
C) wvafeoe urdliy whnd GerCsembetiur
D) urrt'bl_;ésaszs}.

The Indian snakeroot, Rauwolfia serpentina was used for many centuries to treat

A}  Jaundice . B) Malaria
C) Mental disorders & insomnia D) Snakebites. _
Spésaor_amauaeiid ebs GTe® @&aﬂlu LsHeQETaed LEheTs LLSTLEEDE 2

A eoupsEfub whpb QT e B) guUlwbd whpis Gyrienmsr

C) Garseaet whpid ¢ilud D} @euppet ergieyblcoanen.
Which of the following are the two important insecticides ?
A)  Pyrethrum and rotenon B) Opium and rotenon
c) Cocaine and opium D) none of these.
Fphacm s aame QuTl grafuhiset 7
A)  Garemd ' ' B) dlemewmr
C) ualamgiemw D) @een searsgibd.
Which of the following are pseudo-‘cereals ? . |
A) Sofghum B} Millets
C) Buckwheat D) Al of these.
aﬁpé&@‘&n_ SappISenen i :
1 ardlg Cuburiybhars v poasdphe wrey Qurgps Waad ghpgns
LwestLBEDg. ‘
II. @GUEb pdtaLyaLLGTE LIHDOLLL. u:rrcurrsm@ 2 Beus Qi (meft & 6ft
surfliiugh@b seut Ly atemd gurfliugbeb LueTLBSSILGEDE.
. segsaomn Qeradn. wraldiphg Cédv MNdarsst wiGbd GLED
Our@eirser gurfléss Luar@dlanper,
eupBies :
A) oo @i sflurerg B) 1wppd I sflureremeu
C) lobpd I sflureremeu D) oarggbd sflurarens.
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Consider the following statements associated with potatoes :
L Potato starch is suitable for sizing paper.

1. Pre-gelatinized starch is used for the production of moulded articles
and poster paints.

Ill. Dextrins and adhesives are produced from acidified starch.

Of the statements :
A) I alone is correct B} I &I are correct
C) . Iand HI are correct D) Al are correct.

183. dpsaxn ansdutisanerd seual :
sathp) (A) : dlgmby ereug wert Gurl@.

grgemd (K): spduradu aaiGaoled g alures sy aaTGamised e
Sfluiu@letpes .

#Cp @RI Peiver Gy sflwre ;:S]eml_mmg', CapQs® :

A (A) vppid (R) Gueo@o érﬂ. Gugd (R) sreirugl (A} eNip@ '&rﬂmrrsm Nenéabd
B) (A wpoid (R) @ eor®d &fl, Queud (R) erstugl (A) efip@ efhurer eSenésnée
) (A sf .%a;rrre'u (R) seuny

D) (A gaup gemé (R) &,

Consider the following statements :

Assertion (+):. Cloveis a ﬂov}er bud.

Reason (R) : Essential oils are known as volatile oils.

Now select your answer according to the rtoding scheme given below :

‘A) Both (A) and (R) are true and (R} is ﬂ'le correct explanation of (A) .

B) Both (A) and (R) are tfué. but (R} is not the correct explanation of (A)
C) {A) is true, but (R} is false

«D) (A} is false, but (R) is true.

x :
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184. urguéd Igp ulgud Mo ar Qurppd), Q) Qar G s Geter eflipaomens

Qeren@ sflurer oL ews Catbs® :

uCguéd I

SETaUT

S|eVeushST

L@gr

2
3
2

_értus,rj)g,rr

0

W N

4

- f

o

4

3.

U W n-
1.  weflar’ y'gelenwor
2. afggranur CemwaflsCtyr
3. g @eumréorShun MGL&M;@# A

4, L@y eu’ Gyrmilwb.

Match List I correctly with List Il and select your answer using the codes given

List

Sarpagandha

Cassava

Aswagandha

Datura

a)
b}
: g
d)
ePEGser :
a
Al 3
B 1
c). 2 |
D) |
below :
a)
b)
c}
d)
Codes :
a
Al
B 1
Cc) 2
D) 1

N W W

W N O

@ A AR Q

List I1
1. Marithot utilissima

Withania somrit era

2.
3. Rauwolfia serpentina
4.  Datura stramonium,
14001 [ Turn over
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185.

136.

187.

188.

Crmeve L. ereTug

A)  credghlur Geu g Cumedur B) @lerg Garluigm qm‘r@_rrn‘lmf

Q) cradifiglur erdneSlerey D) Sygur SyerGmen,

Rose wood is .

A)  Dalbergia latifolia . B) Indigofera tinctoria

C)  Dalbergia santalinus D) Butea frondosa.
Sphoao_cmeusafiés erene BT WHMID Feudthisenen m?nﬂn@éﬁs&n‘pgj ?

A) @G’gn'I;G’L_rrG’sviﬁwﬁ @gdrﬁwn .B)  sgrendy sgper |

C) Qe Gusflur gsbliug e D) Gy QLHG’E#;HMT Qe Gerrer.
Which yields fibre and fodder ? | |
A} Crotolaria juncea _ B) Cagjanus cajan

C) Sesbania aegyptica D)  Crotolaria veruccosa.

@eupdielimpps Qupludd aVeng adnCesurearg 2 Frlag sOUUTETTEaD, e
o fipamanmaad uueu@ApE 7. '

A Qg Crrur ieey B) AaSlarev aniblyafev

Q) aflaflur JCrélaClaardlay D) oweflgpm” aﬁ?@ma&aﬂb@.
The seed oil used aé lubricant and {lluminant is obtained from

A) Jatropha curcas ' B}  Ricinus communis

C)  Hevea brasiliensis D)  Manthot glaziovil.
srhseficr Geveamey allflaet wrgrer griulL g 7

A)  enlseér ' : " B)  yedten

C)  erterd D) QmLé\mﬂmnu.

Base pair rules were given by .

A) Watson B) Punnet

C) Chargaff D)  Metchinikoff,

-
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189. gullwd eflflmhe sRsELLGHDE
4A)  Cuuiwumeudt CorGlwellGlyid B) Gureflgeuw sussmifley
C) @llend fbleord - D) HlarerComrow GlGeveflwb.
Opium Is extracted from
A)  Papaver somniferum B)  Foeniculum vulgare
C) Cuminum cyminum | D}  Cinnamomum zeylanicum

190. g rferarg, wgflreflev Liyfureles 2 oihs @eelldEhaid Qupiu@Harng.
Qe Qbsrars eObupengs srtbsg |

A) Geralearad B) edéeiGuél
Q) evarleerCrd D) eCuraneuCerdl.

Digitalis is obtained from the dried leaves of Digitalis purpurea belonging to the

family
A) Solanaceae B) Lillaceae.
C)  Scrophulairaceae D}  Apocynaceae.

191. 12 wrflekacie 60000 &.82 upiuaralie amrab CuUBbuGH wTaRTsmeTS &THGD
AL Qewerssons G Hapdanpg

A afaGuat. Gurédi B) Gurédh erelldaCueti
C)  ymoigst aelicoGuesn’ . D) aelleaBue yrrgsL..

The Project which covers the major elephant populatiohs extending over
12 states and inhabiting an area over 60000 km 2 is

A) 'Elephant Poaching'’ B) 'Poaching Elephant'
C) | 'Project Elephant'’ D) ‘Elephant Project'.
192. gmeuy wmiwe mmlﬂs.@émrrem Capflusapai @bdurale ahg Sewbgeiong ¢
A} Qenessm ' B) Gy @er
C} yz Oéed D) Qarsdle,
x[1404] | _ [ Turn over
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In India, Nationai Bureau of Plaat Genetc Resourées is situated at
A) Kolkata - : B) Dehradun

C) New Delhi D)} Cochin.

1973-6% 2000 #5 @ obs udedldr aanafibmacmu 3800 o5 @D

SPefpsshe aams Celp Qsméo gl Lwre @eneu Sapdlsrpg
A)  orst Gursdh B) Gurédi evait
C)  \YrQlgsl e &t D) L&t yyrbigsl.

The Project which has helped to increase the number of tigers from 2000 in 1973
to 3800 today is

A)  ‘Tiger Poaching' | B) ‘Poaching 'l'lger
C)  'Project Tiger D)  'Tiger Project'.

yedureg Qeupiiest o éspde Hapdldmpg

A)  spfios Qareiny B) @pbeoe gpmiGore

0 epdhoe Snsp D) s&sr@asch gpHlene CQgrely.
The tig?r is at the apex of the '

A) Ecosystem B} Ecological harmony

C) Ecological pyramid D) Forest ecosystem.

@du s cuer wHND FHPEEPS SeESHD uGu.lrrému_mﬁ'é]Lq. eDsm Cadlus
Qarstena wppd Suflu Smeflarer Qeuddl L heog uEHs HT6 |

A 1998 B) - 1999.
C) 2000 . D} 2001.

The year in which the Mlnistrj of Environment and Forests of Indian
Government prepared a National Policy and Macro-level Action strategy on
Biodiversity is

A) 1998 B) 1999

C) 2000 D} 2001.

x[ 1404]
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196.

197.

198.
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mibL_LiT ( Namdapha ) 2 diflw H@euerd e Seowpashens 7

A)  =yeveurd ' B8] @urgevgmes

C) Symeoored yGgsid D) =2 adp0 AyGgein.

Namdapha biosphere reserve is in

A)  Assam _ B) Rajasthan

C) Arunachal Pradesh D)  Uttar Pradesh.

@bglunalles ghGurwa 35000 & . 2ugluetae 2.eteT SHU ..ococerernninn.
aarafsmalld el syamneuiset 2 aeter.

A 22 B) - 25

C) 27 ' D) 30.

In India, at present, there are ............ tiger reserves covering ‘an area of
35000 km 2,

A) 22 B) 25

C) 27 D} 30.

sragailue yherssd, Blepssenid) sroensd, yusrssd, ﬁﬁ@mma&sﬁ

fuemcuaer §éQeundl L sdlen S aimdlampen
A) Qe fL@ urgeriy
B) &éev AR urgemriiy

C) sfelud fhurer urgsriy GeudurPss

D) @eubpyetr sr'g;sqt&ésem\i.

Botanical Gardens, Zoos, Parks, Acquaria etc. are coming undér the programme
of

A) In situ conservatton B)  Ex situ conservation

4

C}  Scientific conservation practices D) none of these.
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@mmmwuuﬁm@ gragbsar whpd alebgeaisa aremiu@d wyy Ceupur@ssr
LrgsrOfibe vweaTu@pg

A)  geén QurgGsfwb B) Ogrbllerrad cukd
C HegBur uslLPSESS | D) @eubgiet e giauddemen.

A type of setup, which helps in the preservation of the genetic diversity of the
Flora and Fauna is

A) = Gene pool B) Germ plasm banks

C)  Cryopreservation - D) none of these.

THACHIDD (PSHHTEDID  SEMOLILIHETIT &7 ‘@bl sﬁleon'a!éﬂu.leu s bles@uy ‘@bl

sragaiud sansQa@iy ‘shel Hoaubsara @by wuare Of sael Heaewd,
@b et gmsdl wppd swalls spsb, Qbdor erpdl Calu aessdal
ewowb, ei 216fl yrafigregd uerefl o Fluensusmet @eubPles Ltig ClamctorHeleneot

Al L@ aﬂm:&:@maﬂgﬁr hevest

'B)  auere difl adel wppid SygTiés]

C) oI@ wHpd eere WWsefien g rmbsd

D) @\euppeir srg’cql.&s'um:m.

A number of premier bodies like Zoological Survey of India, Bota:ﬁcal Survey of
India and institutes like Wildlife Institute of India, Indian Council for Forestry
Research and Education. Indira Gandhi National Forest Academy, Salim All
School of Omithology are engaged in

A) domestic animal's welfare
B)  wildlife education and research
C)  both domestic and wildlife's study

D) none of these.

-
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Booklet Series A Register
: Number

2010
BOTANY

Time Allowed : 3 Hours | ) | Maximum Marks : 300
Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS
1. This Booklet has a cover ( this page ) which should not be opened till the invigilator gives signal to
open it at the commencement of the examination. As soon as the signal is received you should tear
the right stde of the booklet cover carefuily to open the booklet. Then proceed to answer the
questions.
2. This Question Booklet contains 200 questions.

Answer all questions, All questions carry equal marks.

4.  The Test Booklet is printed in four seriese.g. [A][B][C] or @ {See Top left side of this page).
The candidate has to indicate in the space provided in the Answer Sheet the series of the booklet.

For example, if the candidate gets series booklet, he/she has to indicate in the side Z of the
" Answer Sheet with Blue or Black Ink Ball point pen as follows ;

.[B}[C][D-]

5. You must write your Register Number in the space provided on the top right side of this page Do
not write anything else on the Guestion Booklet.

6. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers, You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,
failing which your Answer Sheet wili not be evaluated.

7. You will also encode your Register Number, Subject Code etc., with Blue or Black ink Ball point pen
in the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fafl to
encode the above information, your Answer Sheet will not be evaluated.

8. Each question comprises four responses (A), {B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

9. In the Answer Sheet there are four brackets [ A'J[ B[ C ] and | D ] against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select one response for each question In the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any item, (B) is the correct answer, you have to mark as follows : - '

(AT (C1I[D]

10.  You should not remove or tear off any sheet from this Question Booklet. You are hot allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination 18 over.

11. Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Commission may decide at their discretion.

12. In all matters and in cases of doubt, the English Version 1is final.
13. Do not tick-mark or mark the answers in the Question Booklet.
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